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Topic:- BED S2 eng P1
1) Read the passage given below and answer the following questions:

As 15-year-old Perry shuffled into my office, with his parents trailing tentatively behind, he glanced at me with a strained
neutral expression that I'd found usually masked either great anger or great distress; in Perry's case it was both. Although
anorexia is a disorder most often associated with girls, Perry was the third in a line of anorexic boys | had recently seen.
When he came to see me, Perry's weight had dropped to within 10 pounds of the threshold requiring forced hospitalization,
yet he denied there was any problem.

"He just won't eat,"” his mother began. Then, turning to Perry as if to show me the routine they'd been enacting, she asked
with tears in her eyes, "Perry, why can't you at least have a simple dinner with us?" Perry refused to eat with his family,
always claiming he wasn't hungry at the time and that he preferred to eat later in his room, except that rarely happened.
New menus, gentle encouragement, veiled threats, nagging, and outright bribes had all been tried, to no avail. Why would
an otherwise healthy 15-year-old boy be starving himself? The question hung urgently in the air as we all talked.

Let's be clear from the outset. Perry was a smart, good kid: shy, unassuming, and generally unlikely to cause trouble. He
was getting straight A's in a challenging and competitive public school honours curriculum that spring. And he later told me
that he hadn't gotten a B on his report card since fourth grade. In some ways he was every parent's dream child.

But beneath his academic success, Perry faced a world of troubles, and while he took a while to get to know, eventually
the problems came pouring out. The problems weren't what I'd expected, though. Perry wasn't abused, he didn't do drugs,
and his family wasn't driven by conflict. Rather, at first glance, his problems would seem more like typical adolescent
complaints. And they were, in a way. But it was only as | got to understand him that | realized the adolescent problems
Perry experienced weren't just occasional irritations, as they'd been for me and my cohort as teens, but rather, had grown
to the point where they cast a large shadow over much of his day-to-day world. I'd later come to realize that Perry wasn't
alone in that regard.

One big problem was that while Perry was a strong achiever, he was not at all a happy one. "I hate waking up in the
morning because there’s all this stuff | have to do," he said. "l just keep making lists of things to do and checking them off
each day. Not just schoolwork, but extracurricular activities, so | can get into a good college."

Once he got started, Perry's discontent spilled out in a frustrated monologue.

"There's so much to do, and | have to really work to get myself motivated because | feel like none of it really matters... but
it's really important | do it anyway. At the end of it all, | stay up late, | get all my homework done, and | study really hard
for all my tests, and what do | get to show for it all? A single sheet of paper with five or six letters on it. It's just stupid!”

Perry was gifted enough to jump through the academic hoops that had been set for him, but it felt like little more than
hoop-jumping, and this ate at him. But that wasn't his only problem.

Perry was well loved by his parents, as are most of the young people we see. But in their efforts to nurture and support
him, his parents inadvertently increased his mental strain. Over time, they had taken on all his household chores, in order
to leave him more time for schoolwork and activities. "That's his top priority,"” they said almost in unison when | asked about
this. Although removing the chores from Perry's plate gave him a bit more time, it ultimately left him feeling even more
useless and tense. He never really did anything for anyone except suck up their time and money, and he knew it. And if he
thought about backing off on his schoolwork...well, look how much his parents were pouring into making it go well.
Sandwiched between fury and guilt, Perry had literally begun to wither.

This passage is narrated from the point of view of:

[Question ID = 7522]
1. a college professor studying the effects of bulimia on young males.

[Option ID = 30082]
2. ayoung male named Perry, struggling with the effects of anorexia.

[Option ID = 30083]
3. aconcerned therapist who works with struggling young adults.

[Option ID = 30084]
4. a doctor who treats eating, compulsive, and sleeping disorders.

[Option ID = 30085]

Correct Answer :-
® a concerned therapist who works with struggling young adults.

[Option ID = 30084]

2) Read the passage given below and answer the following questions:



:I [ ] yfjxsmankgrfcMIs parents trailing tentatively behind, he glanced at me with a strained
bl 1y her great anger or great distress; in Perry's case it was both. Although
u!;iaﬁirﬂiﬁaﬂhﬂﬁ&tﬂ&&iﬁﬂsociated with Wls Eerr s the third in a line of anorexic bﬂls | had recently seen.
When he came to see me, Perry's weight had dr\{)vppt\elg W%Li alrd Eh%?gpthe thresht\),chggUinB {B m%gpﬁgll@ation,

yet he denied there was any problem.

"He just won't eat," his mother began. Then, turning to Perry as if to show me the routine they'd been enacting, she asked
with tears in her eyes, "Perry, why can't you at least have a simple dinner with us?” Perry refused to eat with his family,
always claiming he wasn't hungry at the time and that he preferred to eat later in his room, except that rarely happened.
New menus, gentle encouragement, veiled threats, nagging, and outright bribes had all been tried, to no avail. Why would
an otherwise healthy 15-year-old boy be starving himself? The question hung urgently in the air as we all talked.

Let's be clear from the outset. Perry was a smart, good kid: shy, unassuming, and generally unlikely to cause trouble. He
was getting straight A's in a challenging and competitive public school honours curriculum that spring. And he later told me
that he hadn't gotten a B on his report card since fourth grade. In some ways he was every parent's dream child.

But beneath his academic success, Perry faced a world of troubles, and while he took a while to get to know, eventually
the problems came pouring out. The problems weren't what I'd expected, though. Perry wasn't abused, he didn't do drugs,
and his family wasn't driven by conflict. Rather, at first glance, his problems would seem more like typical adolescent
complaints. And they were, in a way. But it was only as | got to understand him that | realized the adolescent problems
Perry experienced weren't just occasional irritations, as they'd been for me and my cohort as teens, but rather, had grown
to the point where they cast a large shadow over much of his day-to-day world. I'd later come to realize that Perry wasn't
alone in that regard.

One big problem was that while Perry was a strong achiever, he was not at all a happy one. "I hate waking up in the
morning because there's all this stuff | have to do," he said. "l just keep making lists of things to do and checking them off
each day. Not just schoolwork, but extracurricular activities, so | can get into a good college."

Once he got started, Perry's discontent spilled out in a frustrated monologue.

"There's so much to do, and | have to really work to get myself motivated because | feel like none of it really matters... but
it's really important | do it anyway. At the end of it all, | stay up late, | get all my homework done, and | study really hard
for all my tests, and what do | get to show for it all? A single sheet of paper with five or six letters on it. It's just stupid!”

Perry was gifted enough to jump through the academic hoops that had been set for him, but it felt like little more than
hoop-jumping, and this ate at him. But that wasn't his only problem.

Perry was well loved by his parents, as are most of the young people we see. But in their efforts to nurture and support
him, his parents inadvertently increased his mental strain. Over time, they had taken on all his household chores, in order
to leave him more time for schoolwork and activities. "That's his top priority,” they said almost in unison when | asked about
this. Although removing the chores from Perry's plate gave him a bit more time, it ultimately left him feeling even more
useless and tense. He never really did anything for anyone except suck up their time and money, and he knew it. And if he
thought about backing off on his schoolwork...well, look how much his parents were pouring into making it go well.
Sandwiched between fury and guilt, Perry had literally begun to wither.

According to the passage, Perry's two biggest problems were:

[Question ID = 7523]
1. being an unhappy achiever and his parents' role in increasing his mental strain.

[Option ID = 30086]

2. his poor attitude towards school and his consumption of everyone's time and money.
[Option ID = 30087]

3. his work load and his inability to express himself.

[Option ID = 30088]
4. his inability to prioritize his activities and anorexia.

[Option ID = 30089]

Correct Answer :-
® being an unhappy achiever and his parents' role in increasing his mental strain.

[Option ID = 30086]

3) Read the passage given below and answer the following questions:

As 15-year-old Perry shuffled into my office, with his parents trailing tentatively behind, he glanced at me with a strained
neutral expression that I'd found usually masked either great anger or great distress; in Perry's case it was both. Although
anorexia is a disorder most often associated with girls, Perry was the third in a line of anorexic boys | had recently seen.
When he came to see me, Perry's weight had dropped to within 10 pounds of the threshold requiring forced hospitalization,
yet he denied there was any problem.

"He just won't eat,” his mother began. Then, turning to Perry as if to show me the routine they'd been enacting, she asked
with tears in her eyes, "Perry, why can't you atVl@Aé%5)£§ hipl hrePWith us? Perry refused to eat with his family,
always claiming he wasn't hungry at the time and that he preferred to eat later in his room, except that rarely happened.
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was getting straight A's in a challenging and competitive public school honours curriculum that spring. And he later told me
that he hadn’'t gotten a B on his report card since fourth grade. In some ways he was every parent's dream child.

But beneath his academic success, Perry faced a world of troubles, and while he took a while to get to know, eventually
the problems came pouring out. The problems weren't what I'd expected, though. Perry wasn't abused, he didn't do drugs,
and his family wasn't driven by conflict. Rather, at first glance, his problems would seem more like typical adolescent
complaints. And they were, in a way. But it was only as | got to understand him that | realized the adolescent problems
Perry experienced weren't just occasional irritations, as they'd been for me and my cohort as teens, but rather, had grown
to the point where they cast a large shadow over much of his day-to-day world. I'd later come to realize that Perry wasn't
alone in that regard.

One big problem was that while Perry was a strong achiever, he was not at all a happy one. "I hate waking up in the
morning because there’s all this stuff | have to do," he said. "l just keep making lists of things to do and checking them off
each day. Not just schoolwork, but extracurricular activities, so | can get into a good college."

Once he got started, Perry's discontent spilled out in a frustrated monologue.

"There's so much to do, and | have to really work to get myself motivated because | feel like none of it really matters... but
it's really important | do it anyway. At the end of it all, | stay up late, | get all my homework done, and | study really hard
for all my tests, and what do | get to show for it all? A single sheet of paper with five or six letters on it. It's just stupid!”

Perry was gifted enough to jump through the academic hoops that had been set for him, but it felt like little more than
hoop-jumping, and this ate at him. But that wasn't his only problem.

Perry was well loved by his parents, as are most of the young people we see. But in their efforts to nurture and support
him, his parents inadvertently increased his mental strain. Over time, they had taken on all his household chores, in order
to leave him more time for schoolwork and activities. "That's his top priority,"” they said almost in unison when | asked about
this. Although removing the chores from Perry's plate gave him a bit more time, it ultimately left him feeling even more
useless and tense. He never really did anything for anyone except suck up their time and money, and he knew it. And if he
thought about backing off on his schoolwork...well, look how much his parents were pouring into making it go well.
Sandwiched between fury and guilt, Perry had literally begun to wither.

The primary purpose of the passage is to:

[Question ID = 7524]

1. describe a young man's struggle with anorexia and, in doing so, provide possible reasons a young person may use to defend an eating disorder.
[Option ID = 30090]

2. advocate for young males who are struggling with an eating disorder and the decisions they have made that have brought them to that struggle.
[Option ID = 30091]

3. relate an emotional reaction to the shock of an eating disorder, such as that of Perry's, a typical young adult.

[Option ID = 30092]
4. explain how today's youth often develop eating disorders and other terrible issues in their overactive lives.

[Option ID = 30093]

Correct Answer :-
e describe a young man's struggle with anorexia and, in doing so, provide possible reasons a young person may use to defend an eating disorder.

[Option ID = 30090]

4) Read the passage given below and answer the following questions:

As 15-year-old Perry shuffled into my office, with his parents trailing tentatively behind, he glanced at me with a strained
neutral expression that I'd found usually masked either great anger or great distress; in Perry's case it was both. Although
anorexia is a disorder most often associated with girls, Perry was the third in a line of anorexic boys | had recently seen.
When he came to see me, Perry's weight had dropped to within 10 pounds of the threshold requiring forced hospitalization,
yet he denied there was any problem.

"He just won't eat,” his mother began. Then, turning to Perry as if to show me the routine they'd been enacting, she asked
with tears in her eyes, "Perry, why can't you at least have a simple dinner with us?" Perry refused to eat with his family,
always claiming he wasn't hungry at the time and that he preferred to eat later in his room, except that rarely happened.
New menus, gentle encouragement, veiled threats, nagging, and outright bribes had all been tried, to no avail. Why would
an otherwise healthy 15-year-old boy be starving himself? The question hung urgently in the air as we all talked.

Let's be clear from the outset. Perry was a smart, good kid: shy, unassuming, and generally unlikely to cause trouble. He
was getting straight A's in a challenging and competitive public school honours curriculum that spring. And he later told me
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and his family wasn't driven by conflict. Rather, at first glance, his problems would seem more like typical adolescent
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One big problem was that while Perry was a strong achiever, he was not at all a happy one. "I hate waking up in the
morning because there’s all this stuff | have to do," he said. "l just keep making lists of things to do and checking them off
each day. Not just schoolwork, but extracurricular activities, so | can get into a good college."

Once he got started, Perry's discontent spilled out in a frustrated monologue.

"There's so much to do, and | have to really work to get myself motivated because | feel like none of it really matters... but
it's really important | do it anyway. At the end of it all, | stay up late, | get all my homework done, and | study really hard
for all my tests, and what do | get to show for it all? A single sheet of paper with five or six letters on it. It's just stupid!”

Perry was gifted enough to jump through the academic hoops that had been set for him, but it felt like little more than
hoop-jumping, and this ate at him. But that wasn't his only problem.

Perry was well loved by his parents, as are most of the young people we see. But in their efforts to nurture and support
him, his parents inadvertently increased his mental strain. Over time, they had taken on all his household chores, in order
to leave him more time for schoolwork and activities. "That's his top priority,"” they said almost in unison when | asked about
this. Although removing the chores from Perry's plate gave him a bit more time, it ultimately left him feeling even more
useless and tense. He never really did anything for anyone except suck up their time and money, and he knew it. And if he
thought about backing off on his schoolwork...well, look how much his parents were pouring into making it go well.
Sandwiched between fury and guilt, Perry had literally begun to wither.

Which of the following does the author use in the sentence starting of the fourth paragraph "But beneath his academic
success, Perry faced a world of troubles, and while he took a while to get to know, eventually the problems came pouring
out"?

[Question ID = 7525]
1. simile
[Option ID = 30094]
2. anecdote
[Option ID = 30095]
3. irony

[Option ID = 30096]
4. metaphor

[Option ID = 30097]

Correct Answer :-
® metaphor

[Option ID = 30097]

5) Read the passage given below and answer the following questions:

As 15-year-old Perry shuffled into my office, with his parents trailing tentatively behind, he glanced at me with a strained
neutral expression that I'd found usually masked either great anger or great distress; in Perry's case it was both. Although
anorexia is a disorder most often associated with girls, Perry was the third in a line of anorexic boys | had recently seen.
When he came to see me, Perry's weight had dropped to within 10 pounds of the threshold requiring forced hospitalization,
yet he denied there was any problem.

"He just won't eat," his mother began. Then, turning to Perry as if to show me the routine they'd been enacting, she asked
with tears in her eyes, "Perry, why can't you at least have a simple dinner with us?” Perry refused to eat with his family,
always claiming he wasn't hungry at the time and that he preferred to eat later in his room, except that rarely happened.
New menus, gentle encouragement, veiled threats, nagging, and outright bribes had all been tried, to no avail. Why would
an otherwise healthy 15-year-old boy be starving himself? The question hung urgently in the air as we all talked.

Let's be clear from the outset. Perry was a smart, good kid: shy, unassuming, and generally unlikely to cause trouble. He
was getting straight A's in a challenging and competitive public school honours curriculum that spring. And he later told me
that he hadn't gotten a B on his report card since fourth grade. In some ways he was every parent's dream child.

But beneath his academic success, Perry faced a world of troubles, and while he took a while to get to know, eventually
the problems came pouring out. The problems weren't what I'd expected, though. Perry wasn't abused, he didn't do drugs,
and his family wasn't driven by conflict. Rather, at first glance, his problems would seem more like typical adolescent
complaints. And they were, in a way. But it was only as | got to understand him that | realized the adolescent problems
Perry experienced weren't just occasional irritations, as they'd been for me and my cohort as teens, but rather, had grown
to the point where they cast a large shadow over much of his day-to-day world. I'd later come to realize that Perry wasn't
alone in that regard.

One big problem was that while Perry was a strdfig/s¢bidvst RanwkeroC sl a happy one. "I hate waking up in the
morning because there’s all this stuff | have to do," he said. "l just keep making lists of things to do and checking them off
each day. Not just schoolwork, but extracurricular activities, so | can get into a good college.”
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for all my tests, and what do | get to show for it all? A single sheet of paper with five or six letters on it. It's just stupid!”
Perry was gifted enough to jump through the academic hoops that had been set for him, but it felt like little more than
hoop-jumping, and this ate at him. But that wasn't his only problem.

Perry was well loved by his parents, as are most of the young people we see. But in their efforts to nurture and support
him, his parents inadvertently increased his mental strain. Over time, they had taken on all his household chores, in order
to leave him more time for schoolwork and activities. "That's his top priority," they said almost in unison when | asked about
this. Although removing the chores from Perry's plate gave him a bit more time, it ultimately left him feeling even more
useless and tense. He never really did anything for anyone except suck up their time and money, and he knew it. And if he
thought about backing off on his schoolwork...well, look how much his parents were pouring into making it go well.
Sandwiched between fury and guilt, Perry had literally begun to wither.

In the second sentence of the last paragraph, the word "inadvertently” most nearly means:

[Question ID = 7526]
1. steadily

[Option ID = 30098]
2. monumentally

[Option ID = 30099]
3. incrementally

[Option ID = 30100]
4. mistakenly

[Option ID = 30101]

Correct Answer :-
e mistakenly

[Option ID = 30101]

Topic:- BED S2 bil

1) Let f and g be real functions defined by f(x) = 2x-5 and g(x) = -4x+7. For all the real numbers x, such that f(x)=g(x)
which of the following statements is true?

It efifSte b f(Xx) = 2x-5 aem g(x) = -4x+7 grI ufdiftE f aen g arafde Bod & 3o ardfae Al X, fer @ fere f(x)=g(x) &,

forgotferRaa 3 3 Dol AT DU AA BPN?

[Question ID = 7883]

1. A straight line parallel to y axis cutting two points towards the positive side of the x axis/x 3ig1 @ olicoid ugt &t 3l G ISl DI DIcal archt y 311 d
TR U Al 33ar [Option ID = 31526]

2. A straight line parallel to y axis cutting two points towards the negative side of the x axis/x 3ig1 @ e ugi 6t 32 Gt spIseil DI Dical darcll y 3181 D
Wt U 2Aleft 3xar [Option ID = 31527]

3. Astraight line parallel to x axis cutting two points towards the positive side of the y axis/y sigt @ @olicaicd ugt b 302 Y SDBISAL DY DIcor drctt X 3ie1 D
JWIliR U el 3xar [Option ID = 31528]

4. A straight line parallel to x axis cutting two points towards the negative side of the y axis/y sie1 @ >pvncard ugl b 312 Gl sPbIsedl DI DIcal dlett X 38T D
JWMliR U el 3xar [Option ID = 31529]

Correct Answer :-
e A straight line parallel to y axis cutting two points towards the positive side of the x axis/x 3igt @ @olicaad ugt b 302 GI SIS DY DIcal arcfl y 3ie1 D
JWIIIAR U et 3t [Option ID = 31526]

2) If the zeroes of the polynomial ax3+3bx2+3cx+d are increasing succeedingly by a constant ‘r’ then which of the following
relations are true?

afe aguc ax3+3bxZ+3cx+d @ 9o cRIAR e = ‘r’ A ¢ 23 & dl PweifeRaa 3 3 ®ler a1 Fder st 37

[Question ID = 7884]
1. 2b3-3abc +ald =0

[Option ID = 31530]
2. 2b3-3abc-ald=0

[Option ID = 31531]
3. 2b3+3abc +a2d =0

roptiom iD= 31337]
4. 2b3+3abc-ald=0 .
www.FirstRanker.com
[Option ID = 31533]
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MoFiesteanker's choice
3) Cards marked from 10 to 50 are put in a box and given a thorough mix. What is the probability of drawing a card with a
squared number written on it, if the probability of drawing each card is equally likely?

10 31 50 a@ fRifea st ©f v diaet 3 a1 e 3R Aa@! B o2 [Rnsrn 8 Afs g B1S @I formretol &I giRkimdr ol Hsiraent areT
8, dI @I off v oIS R UR Tet iz Rifoed 8l dl formicel &I gIRidar o= 8?7

[Question ID = 7885]
1. 1/4

[Option ID = 31534]
2. 4/41

[Option ID = 31535]
3. 7/40

[Option ID = 31536]
4. 10/41

[Option ID = 31537]

Correct Answer :-
e 4/41
[Option ID = 31535]

4) The point which divides the line segment joining the points (7,-6) and (3, 4) in the ratio 1:2 internally lies in the:

fiigali (7,-6) aer (3,4) @i Slisd arcil XS ®I idiRke »u A 1:2 3 fpnfora oo arctl fig dr Refea 3 :
[Question ID = 7886]

1. First quadrant/yem agerfer [Option ID = 31538]

2. Second quadrant/fgedtr agefer [Option ID = 31539]

3. Third quadrant /e aqetfer [Option ID = 31540]

4. Fourth quadrant/agqsf agerfer [Option ID = 31541]

Correct Answer :-
e Fourth quadrant/=qgef aqafer [Option ID = 31541]

5) In a windmill the power generated:

U Udoraadi ¥ fasicll Scuoet 3l 3:

[Question ID = 7887]

1. Depends on the height of the tower/cfaz & 3ar$ w folz @ 8 [Option ID = 31542]

2. Is more in rainy season since damp air would mean more air mass hitting the blades/afsor & sitemt 3t aifétrs 2iar 8, w=iifds BT aaT1 BT FIIe™ BT & 3Mfed arRg
GeIATIel I scis A capiall [Option ID = 31543]

3. Depends on wind velocity/sar @ de1 w2 forsfz e & [Option ID = 31544]

4. Can be increased by planting tall trees close to the tower/cfaz @ @3d Hd Us ePID? A IGRI Sl Abdl & [Option ID = 31545]

Correct Answer :-
e Depends on wind velocity/zar @ de1 w2 forsfz cr 2 [Option ID = 31544]

6) Which of the following statement is / are true for a stationary wave?

(a) Every particle has fixed amplitude which is different from the amplitude of its nearest particle.
(b) All the particles cross their mean position at the same time.

(c) All the particles are oscillating with same amplitude.

(d) There is no net transfer of energy across any plane.

(e) There are some particles which are always at rest.

o2t srgeIil a3e1 @ feru forvaifeiRaa 3 diet A BT A 57

(a) Y@ But 3 Tb fOoRIA MRIEI 3IT 3 Sl 330D foredd USRIl vl A et aldar 3
(b) zmeft wour srucht ae=r Rrerfer @1 vep ATer UR BT T

(c) 213t TUT AWATGT AR A SIcTol DI &

(d) fon=ft 91t dct B 31z Uz FoIf DI oI FEATCTIARIT ofdl BXdT 3

(e) ©® ®ur A< fFer a3

[Question ID = 7888] .
1. (a) and (b)/(a) 3= (b) www.FirstRanker.com

[Option ID = 31546]
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Firstranker's choice

[Option ID = 31548]
4. (d)

www.FirstRanker.com www.FirstRanker.com

[Option ID = 31549]

Correct Answer :-
® (o)

[Option ID = 31547]

7) Kepler’s second law is based on which of the following?

DR DI G forra smenfya 3:

[Question ID = 7889]

1. Newton’s first law/s¥cat @1 usen forwr [Option ID = 31550]

2. Conservation of energy/3ssif @t 3izgmr [Option ID = 31551]

3. Newton’s second law/s=cat @t gt formt [Option ID = 31552]

4. Conservation of angular momentum/olvfir sifer @1 g1 [Option ID = 31553]

Correct Answer :-

e Conservation of angular momentum/bwfer sifer @t izemur [Option ID = 31553]

8) If the mass of sun were ten times smaller and the gravitational constant G were ten times larger in magnitude, which of
the following would be false?

i I @I gearel 10 Ifeir Bler an Icdid formaias G ufvimer 3 10 3gen 931 3, dl:

[Question ID = 7890]

. Airplanes will have to travel much faster. /arirer @t siférs digar 3 actenr ussn [Option ID = 31554]

. Raindrops will fall much faster./auf &t §g sifee asft 31 BRsft [Option ID = 31555]

. The acceleration due to gravity on earth will not change. /gedt @1 sp5edir cazur 3 uf¥ader ot glem [Option ID = 31556]
. Walking on ground would become more difficult. /gedt w2 acton sifeid afdot en [Option ID = 31557]

A W N -

Correct Answer :-
e The acceleration due to gravity on earth will not change. /gedt @t spsediar cazur 3 uf¥adet o1&l dlenr [Option ID = 31556]

9) Which of the following is a vitamin?

forgoifciRaa & A dlar ferfder 3?7

[Question ID = 7891]

. Aspartic acid/weufée® swet [Option ID = 31558]

. Ascorbic acid/w@ifde® sw@e [Option ID = 31559]
. Adipic acid/effias swer [Option ID = 31560]

. Saccharic acid/3®fs® swer [Option ID = 31561]

A W N -

Correct Answer :-
e Ascorbic acid/wlfd® swet [Option ID = 31559]

10) White fumes appear around the bottle of anhydrous AICl3. The reason for this is:

forstefizr AICI3 & dierer @5 ari 3iiz A &J gol SIA & $ADI DRYI AT 3 fob:

[Question ID = 7892]
. AlCl3 is partially oxidised with atmospheric oxygen to liberate Al;03 which appears white in colour/femstefir ACL 3 arjgiscilr sifaRfisior @ e 3ifdre Fu A
sifferTapa 2lpe Alp03 fRifsta @, Sit <3 o1 3 f&ars Son

1

[Option ID = 31562]
2. AlCl3 is partially hydrolysed with atmospheric moisture to liberate HCl gas which appears white in colour/AlCl;3 stiform u 3 aryeiscir oelt B Arer et
suafea diap HCL 3t fafdfa awaar 3, Sit «da Jo1 a1 f&arft Jam

[Option ID = 31563]

3. AlCl3 reacts with atmospheric Nitrogen to liberate AIN which appears white in colour/AlCl3 arygiseilr airscisior @ e sifdifcpen w2 AIN Rrifsfa o 8, sit
ol 31 ol feartt dom
[Option ID = 31564]

4. AlCl3 reacts with atmospheric pollution to liberate white fumes/AlCl3 arpisciRI yguur @ el sifdifpRn w3 4 g9l [RRIfsia o 8

[Option ID = 31565]

Correct Answer :-
e AICl3 is partially hydrolysed with atmospheric moisture to liberate HCl gas which appears white in colour/AlCl3 siifSrb 3u 3 drpeisciir oweft @ Arer Siet

Tuerfea HCl st R=afdfa , Sl 2 3 f&arft .
et gl o ot “lwww.FirstRanker.com
[Option ID = 31563]
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a. displacement reaction www.FirstRanker.com www.FirstRanker.com
b. combination reaction
c. redox reaction

d. neutralisation reaction

forgotferRae sif$ifdpen v Iorsevr 3:

4NH3 (g) + 502 (g) — 4NO(g) + 6H20(g)
a. yferremuet sif$ifepm w1

b. ister sif$ifepzm w1

C. JUTRIel - Uil (3STa=) 3ifdifepzm o1
d. Jorilsliazur sif$ifepzm @1

[Question ID = 7893]
1. (a) and (d)/(a) si= (d)

[Option ID = 31566]
2. (b) and (c)/(b) 4z ()

[Option ID = 31567]
3. (a) and (c)/(a) 3= (c)

[Option ID = 31568]
4. (c)and (d)/(c) sz (d)

[Option ID = 31569]

Correct Answer :-
e (a)and (c)/(a) siz (c)

[Option ID = 31568]

12) Two chemical species X and Y combine together to form a product P which contains both X and Y
X+Y—>P

X and Y cannot be broken down into simpler substances by simple chemical reactions. Which of the following concerning the
species X, Y and P are correct?

a. P is a compound
b. X and Y are compounds
c. Xand Y are elements

d. P has a fixed composition

3l rRIrRIfore Fdioftst X aen Y smuRt 3 e 312 P 3curd weirdl 3 SRt at X aan Y diel 3uf¥em 3:

X+Y—->P

X aen Y ol A=cl IRIRIfID SRR GRI el Ucrl 3 o181 dlsI oIl Addl & foroiferRaa 3 7 @lot A1 X, Y aen P @ e ae 87
a. P o Aifo 3

b. X aen Y Aiftrs 3

c. Xau Y awa 8

d. P @1 uop forfra Jsreor &

[Question ID = 7894]
1. (a), (b) and (c)/(a), (b) aem (c)

[Option ID = 31570]
2. (a), (b) and (d)/(a), (b) aer (d)

[Option ID = 31571]
3. (b), (c) and (d)/(b), (c) aem (d)

foptiomtB—3+572%
4. (a), (c) and (d)/(a), (c) aem (d)

[Option ID = 31573] www.FirstRanker.com
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13) are stimulated by bright light and can distinguish colour, but they do not function in night vision.

______ Isoad YmI9 GRI Al 3R 39T :ig B2 ADd 3, Afdbol A A &bl zfte 3 rf o1dl w2 &
[Question ID = 7895]

1. Cones/9iqz [Option ID = 31574]

2. Rods/gs [Option ID = 31575]

3. Optic nerve/efe (siiftea) dfcar [Option ID = 31576]

4. Retina/efcucer (o) [Option ID = 31577]

Correct Answer :-

e Cones/9iq [Option ID = 31574]

14) Which of the following components are seen in a slide of human cheek cell when observed under a microscope (40x
maghnification)?

JIo[SI @ 3MIcT (BuUlcl) D DIOIDT Dl Felss DI YgIcoll (4o 3o macior) It xol U= foa feilRaa 3 21 Blor Bial A acd [GErd 3d 3?7

[Question ID = 7896]

1. Cell membrane, plastids, nucleus/mifsimr Rreeft, wnf3esaa, dfgamt
[Option ID = 31578]

2. Cell wall, cytoplasm, nucleus/mlfsrpr faredt, DifsSipr gear, Dt
[Option ID = 31579]

3. Cell wall, Protoplasm, nucleus/mifrmr firedt, Sfta geer, dfgat

[Option ID = 31580]
4. Cell Membrane, cytoplasm, nucleus/®ifsrpt f2iceft, Pifdrt goar, Bt

[Option ID = 31581]

Correct Answer :-
e Cell Membrane, cytoplasm, nucleus/liforer fBreett, Do ger, Digat
[Option ID = 31581]
15) Increase in the level of accumulation of non-biodegradable pesticides in the food chain at each higher trophic level is
known as:

fop2fl seR-gjen 3 S-SiafogeiinviiR HiswonidrIl @1 e Icaar Uil IR Uz a6l 55 ALy d Uafefd Sl SIloll aRIT BECIIdT 37
[Question ID = 7897]

. Biomagnification/sta smaefer [Option ID = 31582]

. Accumulation/wadas2ur [Option ID = 31583]

. Pollution/gguur [Option ID = 31584]

. Eutrophication/drmr [Option ID = 31585]

A W N -

Correct Answer :-

e Biomagnification/3a smagfer [Option ID = 31582]

16) A student was asked to identify the process which occurs when the raisins are soaked in water. The process is known
as:

uop frenell @1 33 yfeprm &t usdrer @l @ 1T war SR o St ad 3kl 3 S foperfdrer urcil 3 fens St 3 a1 yfdprn @) waa 3:
[Question ID = 7898]

1. Osmosis/sirERr [Option ID = 31586]

2. Plasmolysis/sflageeagaet [Option ID = 31587]

3. Endocytosis/uskascl3rr [Option ID = 31588]

4. Diffusion/fazror [Option ID = 31589]

Correct Answer :-
® Osmosis/siReEnRrT [Option ID = 31586]

17) Green colour coating on copper utensils is due to the formation of :

aid @ gcdoil Uz 3Y 31 Bl PifesT RpAD Fotol D BRI Bl 37

[Question ID = 7899]

1. CuCO3 www.FirstRanker.com

[Option ID = 31590]
2. Cu (OH),
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[Option ID = 31593]

Correct Answer :-
e CuCOs3

[Option ID = 31590]
18) Pieces of pre-weighed cloth of silk, nylon, cotton and wool of equal measurements are taken and soaked in a beaker
filled with water. After a few minutes, the cloth pieces were taken out of the beaker and weighed again. Which of the
following options places them in the correct order of their final weights?

39, SIRIciel, cil, 3R Hol D PUS D TG dslol D gd D s fe18 SIId 3 3R urell A 2 dipz I Beu S & @ e @ a6, Pus @
TS dlpz A foralel 31U 3ii= fb A dicl srRn  forFstfcii¥ad 3 A ®lal AT famdeu 368 3ol 3ifer sk & W8T A 3 War &7

[Question ID = 7900]

1. Wool > silk > nylon > cotton/3set > 3om1 > aIRIeifol > Jcit [Option ID = 31594]

2. Cotton > Silk > nylon > wool/3dt > B > sirIcifer > 3ot [Option ID = 31595]

3. Wool > cotton > silk > nylon/3set > ¢ft > 3wt > aIrIcifor [Option ID = 31596]

4. Silk > wool > cotton > nylon/39m@ > 3ot > ¢l > oirreifor [Option ID = 31597]

Correct Answer :-
® Wool > cotton > silk > nylon/3set > it > o > airIcifel [Option ID = 31596]

19) A food sample turned blue - black after addition of a few drops of iodine solution. This sample contains:

SIRIETet #lel bl ©o gel @l il v el 13l oilell - DIell 8l SR 3 oldol 3 onfdret 3:
[Question ID = 7901]

1. Fat/azx [Option ID = 31598]

2. Glucose/segeprat [Option ID = 31599]

3. Starch/zerd [Option ID = 31600]

4. Protein/qiclar [Option ID = 31601]

Correct Answer :-
e Starch/erd [Option ID = 31600]

20) The process by which blood is cleared of metabolic wastes in case of kidney failure is called:

gae D AYfep dlot i Rrerfer 3 srafdrse IcUct oI ATE Dot B Yfdgrn, Bl dal SIdr 3t
[Question ID = 7902]

1. Dialysis/smigat [Option ID = 31602]

2. Artificial kidney/wfept gae [Option ID = 31603]

3. Transplantation/yffRIuer [Option ID = 31604]

4. Filtration/feremzom [Option ID = 31605]

Correct Answer :-
e Dialysis/smlsat [Option ID = 31602]

21) Which of the following were the effects of colonial forestry in India?

I. Ban on network of forest reserves.

Il. Supply of captive labour for forest operations.

lll. Scientific cultivation of certain species of trees.

IV. Promotion of grazing, hunting, fishing and exploitation of forests.

3IRd 3 situforafdre arfordt @ fororfeiRaa 3 3 wiot A Yorma A?

|. =fdra qell @ Sirel uR yferaer

Il. o1 Jarctel @ fere st offdidi bt smygfef

lll. Ui & o genidrIl ol dsiifore o1 A el

IV. warg, RBioR, asdll usso 3iiz Sl @ Qlgol O dgIdl Soll

[Question ID = 7903]
1. land lll only/@aet | siiz |1

[Option ID = 31606]
2. Il'and Il only/d>aet |1 sfiz 111

[Option ID = 31607]
3. I, Il and Il only/aaet I, Il, si 1 Wwa”’stRan ker_com
[Option ID = 31608]
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o Il and Il only/dsaer I iz Il
[Option ID = 31607]

22) M.K. Gandhi chose to clothe the whole nation in khadi because:

I. it would be a means of erasing differences between religions.

Il. it would be a means of erasing differences between the classes.

lll. those who were deprived by caste norms would wear it for self- respect.

IV. most people were easily able to take to the single peasant loincloth as he (Gandhi) had.

Qa1 . anielt of g gor ol wWIél Usellol I ey gotr ariifes:

I. a5 fafdoot el @ i A oI PBIcol ©I v AR eI

Il. 18 faftroor aolf @ i A I BIcTol ©T T AR o1

lll. Sit cier Shfeera uRu=IB &f asic A dferd &, d $3 cH-Faiftere o fire usolsl
IV. sga AR <ot sTieht SiAT 5982 fdpreil a3 IRITofl A 3IUell Add I
[Question ID = 7904]

I and Il only/a@aet | siz |l [Option ID = 31610]

I 'and Il only/dsaer | siiz 11l [Option ID = 31611]

I, Il and Il only/daet I, 11, sz 11l [Option ID = 31612]

I, I'and IV only/@ae |, 11 sz IV [Option ID = 31613]

A W N -

Correct Answer :-
e | and Il only/d@aa | sz |l [Option ID = 31610]

23) Examine the two statements and select the correct answer from the options given below:
Statement I: The system of indentured labour unfolded as a new system of slavery in the nineteenth century.

Statement II: Workers discovered their own ways of surviving and creating new forms of cultural fusion like ‘chutney
music’.

forgaifeiRaea <1 werll @1 udlerur o3 3iiz iU s1e famcul # A Al faascu @1 TRIeT @3
@erel |: Brefdfen o1 &I guirell Seofladl <1 3 semslt Bl v o1 gunedl & U 3 IURD2 Aol 1S
el |: ofdrnt of =i o Shfd war @ e "acoll Felia’ St Airafire AagET & sruar & dizadias fla fiew

[Question ID = 7905]
1. Statement | is false but Statement Il is true./@erer | srRier 2 iR werr || 3 3

[Option ID = 31614]
2. Statement | is true but Statement Il is false. /e | 31cer 2 3z @erot |1 srica 3

[Option ID = 31615]
3. Statement | and Il are true and Statement Il is the correct explanation for |./@emwr | 3iR 11 Gloll & 3 3 3R et || e | & 38 =mren 8

[Option ID = 31616]
4. Statement | and Il are true but Statement Il is not the correct explanation of |./@erer | 3iiz |1 Sloll &t 3 3 8iiz weret || werer | 6 38 wimeen ol 8

[Option ID = 31617]

Correct Answer :-
e Statement | and Il are true but Statement Il is not the correct explanation of |./@erer | 3liz || Gleil &t 31 3 i @eret || weret | 6t 218t e ot 8

[Option ID = 31617]

24) How do we know today that ostriches were found in India during the Palaeolothic period?

adaret 3 33 DA Silold 3 6 YRIUTYIUI ®lel & SRRIel HRA 3 9gRIRT url S a7?

[Question ID = 7906]

1. We have vivid portrayal of these birds in the paintings of Bhimbetka in Madhya Pradesh. /a3 urt sreamgger @ sfiotdeast @ il 3t sof ufdril @1 faere fRrqur
[Option ID = 31618]

2. Large quantities of ostrich egg shells were found at Patne in Maharashtra. /@RI @ ucot 3 gt Ay 3 9JgReet @ 3is @ feserad fiict & [Option ID = 31619]

3. We have pictographic records on ostriches in Delhi’s National Museum. /s#aR urt feceft @ s Jofarert 3 ggRé#pll W Riqiead sifdcza & [Option ID =
31620]

4. These are described in the memoirs of earliest foreign travellers from Africa. /3 smwiar 3 3R gpsanel facoft wnfeRil @ vl 3 aftfa & [Option ID =
31621]

Correct Answer :-

e |arge quantities of ostrich egg shells were found at PaWe%WaﬁtE\%ta%&ﬁ?g&:Qm@ FIT 3 QGRIPl D 3iS D ferad fer & [Option ID = 31619]
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. Seventieth Amendment/3r=al 3iolerer [Option ID = 31622]

. Fortieth Amendment/arefirart Jiolieror [Option ID = 31623]

. Twenty fourth Amendment/dlidlzrat dolterst [Option ID = 31624]
. Forty second Amendment/s=ircftzmt Jioierer [Option ID = 31625]

A W N -

Correct Answer :-
e Forty second Amendment/wirettemai 2ottt [Option ID = 31625]

26) Which statement is true about Panchayati Raj?

I A A UarKdl It D fAoRT 3t oiol AT DoreT A8 38

[Question ID = 7908]

1. The panchayat samiti and zila parishad should be constituted with directly elected members. /darra aafdiferi iz fSrem uf¥uct @1 sice yeaer forafferd Aczit
&RI 8ol aifde [Option ID = 31626]

2. To contest election Minimum age should be 18 years. /darid ¥R W golld cisal Pl oxfelael 3R] AMa ¢¢ adf Bleft anfde [Option ID = 31627]

3. Election of the Panchayati Raj institutions is conducted under the guidance of the State Election Commission. /dariddl st Jizensii & goira s forafaot

3IRIeT B forderet 31 RNSIA 8lol anfde [Option ID = 31628]
4. For the financial review of Panchayats, the state Finance Commission is established every 6 years. /uaridil &t fadr wfien @ fr YR o8 ad @ a6 AT
foret arriter bt emyen &t suedt & [Option ID = 31629]

Correct Answer :-
e Election of the Panchayati Raj institutions is conducted under the guidance of the State Election Commission. /daridl st Jizensii @ goira s forafot
3IRIeT & fordoret a1 RN alol anfde [Option ID = 31628]

27) The First general elections held in 1952 involved simultaneous elections to the Lok Sabha and

1952 & 3u usal 313 Yolrdl I el iR @ ATA-ATA Dlol AT Yolld onfdrer A?
[Question ID = 7909]

. The Vice President of India/smza @ 3uargufer [Option ID = 31630]

. State Assemblies/3sw fdemerisme [Option ID = 31631]

. Rajya Sabha/zrserisn [Option ID = 31632]

. President of India/sma @ mcufer [Option ID = 31633]

A w N =

Correct Answer :-

e State Assemblies/3rsu femersms [Option ID = 31631]

28) is a landlocked country in South Asia, and has transitioned from an absolute monarchy to a
constitutional monarchy.

____ cféror ofdrm 3 v 391 8, 3R e forRapr AsIoNdl A v Fdenfores Asiondl d ufkafefa 2t srm 3
[Question ID = 7910]

India/ema [Option ID = 31634]

Pakistan/uifesaarer [Option ID = 31635]

Sri Lanka/offciar [Option ID = 31636]

Bhutan/spcret [Option ID = 31637]

A W N -

Correct Answer :-
e Bhutan/gcret [Option ID = 31637]

29) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion (A): The difference between the durations of day and night is hardly felt at Kanyakumari but not so in Kashmir.

Reason (R): The longitudinal extent influences the duration of day and night as we move from south to north.
Select the correct option from the given alternatives:

ifdreperet (A): dorraardl 3 o 3iiz Aa @ WIrRT D S &I 3iaR 9IRIG & IR fp=n Siren 8, Aiftbor woatls 3 ¥ odt 3
@RI (R): oidrkr frdr Ret sz ara & smafér &1 geufarda ol 3 1A & s ofdor A saz &l s "gea 3

feu s1u fawcul d A A8 faascu ©1 TRIeT B3

[Question ID = 7911]
1. Both (A) and (R) are true, but (R) does not explain (A)./cXeil (A) 3z (R) 3@ 3, cifdper (R) e oidt av3ar 3 (A) &t

[Option ID = 31638]
2. (A)is true and (R) is false./(A) 3t 2 3iiz (R) srcia & WWW FirstRanker com

[Option ID = 31639]
3. (A)is false and (R) is true./(A) srera 2 3z (R) 3@ @
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Correct Answer :-
® (A)is true and (R) is false./(A) 3@t 3 3z (R) srctea 8

www.FirstRanker.com www.FirstRanker.com

[Option ID = 31639]

30) Consider the following:

A. Temperature and moisture
B. Latitude and Altitude

C. Slope and thickness of soil

D. Direction of blowing of winds

The type and thickness of natural vegetation vary from place to place because of the variation in which of the above
factors:

forgoifeiRaa uz foamr @3:

A. amgaret iR ol
B. sierior 3ilz Sarg
C. Gt 3ii? go1 &bt Hlers
D. zar sgal I o

IWRAH I A fpol PR®I B BRI fAfdcst &Gl 3 grofie geruftl @& yor sk 3adt Jaerar 3 Broetar aXdl 3?7

[Question ID = 7912]
1. Aand Conly./@ac A siiz C

[Option ID = 31642]
2. Cand D only./dae C siiz D

[Option ID = 31643]
3. A, Band Conly./dae A, B siiz C

[Option ID = 31644]
4. A, BandDonly./@act A, B 3iiz D

[Option ID = 31645]

Correct Answer :-
e A, BandConly./dac A, B 3z C

[Option ID = 31644]

31) The main reason for the fact that the earth experiences the highest temperatures in the subtropics in the northern
hemisphere rather than at the equator is :

gedt & fargaa gl Siql &t srdeir Iadt siremef @ IuTour wiedediRr gl o1 Aruaret MG ST 3, SADT JIR BRUI 3t

[Question ID = 7913]

1. Subtropical areas tend to have less cloud cover than equatorial areas. /fagariir 81 &t g 3utor ofesefRn giqi 3 @ acet a8 [Option ID = 31646]

2. Subtropical areas have longer day hours in the summer than the equatorial. /3drwr wfedr giqi 3 spff @& f&ail 6t clars fAyadier 8iqi 3 seet aidt & [Option 1D
= 31647]

3. Subtropical areas have an enhanced “greenhouse effect” compared to equatorial areas. /3ulwr wfeder i) 3t sffer a3t yara fagadir i) &t smien ser alar
2 [Option ID = 31648]

4. Subtropical areas are nearer to the oceanic areas than the equatorial locations. /3ulsor wfestfier 8iq figadr il &I sMsn ASRIGRRI 8l D SAIGT DI &
[Option ID = 31649]

Correct Answer :-

e Subtropical areas have longer day hours in the summer than the equatorial. /3udr wfeder giqi 3t swif & il &t clars fyadd giqi A Sarer 2t & [Option ID
= 31647]

32) Consider the following list: Alps, Aravali, Appalachians, Himalaya, Ural , Vosges In this list which one of the following is

different from the others?

forgaiferRaa It ur Rrar ®3: snct, sRIactl, srcfdrmel, BarcrI, JRIcI, ARSI 31 Il 9 fowafeiRaa 3 A1 oo A1 GIRI A 31w 37
[Question ID = 7914]

. Vosges/armera [Option ID = 31650]

. Alps/smewa [Option ID = 31651]

. Ural/zgre [Option ID = 31652]

. Aravali/srrmacht [Option ID = 31653]

A W N -

Correct Answer :- .
® Vosges/armrRi [Option ID = 31650] WWW'FIrStRanker'Com
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[Question ID = 7915]
1. A policy that encourages firms to buy more industrial plant. /e siifer Sit wdif @i siférp slielfSre WkRiq IRleol D fow gienfda @2 [Option ID = 31654]
2. A policy that encourages firms to develop and introduce improved technology./ves siifer Sit waif Bl Jad= ddoilc BRI w0l 3l Uor B2ol D o Yenfda b2
[Option ID = 31655]
3. A policy that encourages firms to provide training to their labour. /v sfifer Sl il @1 3ol gfdrdl @t Yfdreivr yarol w2l d fere Yieanfaa w2 [Option ID =
31656]
4. A policy that encourages firms to optimally utilize already available resources. /v®m %t ofifer Sit weil @I uscl 3 Iuctst! AAMIol DI MfADBAH IURNGT Dol D e
Qienfda w2 [Option ID = 31657]

Correct Answer :-

e A policy that encourages firms to optimally utilize already available resources. /v b2t sfifer Sit weit @I user 3 Iuctet! IARAMMereT DI BN IURAPT Bl D fe1w
Qienfda w2 [Option ID = 31657]

34) If the RBI (Reserve Bank of India) adopts an expansionist open market operations policy, this means that it will:

Afe RIS (MR ferd So) v Rrarardt oo ar FHdarc ofifer srueiar 3, Al $3PI e & b As dPm:

[Question ID = 7916]

buy securities from non-government holders/3l-3r®R! arel A yfepjferit T=31¢ [Option ID = 31658]

sell securities in the open market/get areirR 3 yfenyferi @I aa [Option ID = 31659]

offer commercial banks more credit in the open market/aifdifSeres Jabt P el areiR 3 Sifelep 3601 Yetal 2 [Option ID = 31660]

openly announce to the market that it intends to expand credit/ iR 9 el dl @ diuvn o3 b a8 @ [Fepl [Rar aon asa & [Option ID = 31661]

A wWw N =

Correct Answer :-
e offer commercial banks more credit in the open market/aififSe doi @I Jel areiR 9 aifére 35u1 Yol &2 [Option ID = 31660]

35) Consider the following statements regarding the change in economic activities over the last forty years in India.

A. Secondary sector has emerged as the largest producing sector in India replacing the primary sector.
B. There has been a change in the share of the three sectors in GDP; a similar shift has not taken place in employment.

Choose the correct option:

3iRd 3 arcila adf 3 suféfe sifcfaffri 3 Slot arcr accra & arR J forefcilRaa werell ur far @3
A. grafdre &g &bl seIe {GdlRkd &g MR 3 AR SSI IcUIGD i) ToIb A &

B. SiiSidl 3 el 8Iqi bl 3RIcrl 3 acera 331 8, 3T Ave Aol el 3R] ASPIR I I8l F3IT &
AHl fpeu ol

[Question ID = 7917]
1. Both A and B are true. /3t 3@t 3

[Option ID = 31662]
2. Ais true but B is false./A J1& 2 cifdsor B srcta &

[Option ID = 31663]
3. Ais false but B is true./A sicra 2 cifdpor B 2@t &

[Option ID = 31664]
4. Both A and B are false. /3ail sicia &

[Option ID = 31665]
Correct Answer :-
e Ais false but B is true./A sicia 2 cifdpot B 1t 3

[Option ID = 31664]

36) Food security is ensured in a country only if:

A. Enough food is available for all the persons
B. All men have the capacity to buy food of acceptable quality
C. There is no barrier on access to food.

Select the correct answer using the code given below:

fp2ft Sor 3 wrer Jzen Ffoia & sl 3 3PR sl

A. 331t cafes=il & forg u=it siisier Sucteer 3

B. 2nft guul 3 FdioRI SuIarr @ siistol Féico! &t grarar 3

€ HISTIor e ugT A o e orél 8

ol R a1¢ ®Ys ®1 IuRNeT DD A FaAT okt www.FirstRanker.com
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[Option ID = 31667]
3. Aand C only/daer A siiz C

[Option ID = 31668]
4. A, Band C/dac A, B aiiz C

[Option ID = 31669]
Correct Answer :-
e Aand Conly/@aa A siz C
[Option ID = 31668]

37) The components of material culture are and objective.

A. External
B. Internal
C. Tangible

Select the correct option from the code given below:

siiferes i & aco 3fiz a¥qforss &

A. sm@
B. srnaf¥s

C. od
ofl f3U a1g @Is A A8 fadcu o1 RIeT B3t

[Question ID = 7919]
1. A/daa A

[Option ID = 31670]
2. B/®daaB

[Option ID = 31671]
3. C/daa C

[Option ID = 31672]
4. Both A and C/A &z C Jeii

[Option ID = 31673]
Correct Answer :-
e Both A and C/A 3iiz C glail
[Option ID = 31673]

38) Thomas Robert Malthus, who wrote the famous ‘An essay on the principle of population’ was born in which year?

eiforRa 3ad Arcerd, RKesia 'Slorizea @ Rigia ur forder ferar e, fopr ad 3 Usr g3m en?

[Question ID = 7920]
1. 1766

[Option ID = 31674]
2. 1778

[Option ID = 31675]
3. 1834

[Option ID = 31676]
4. 1938

[Option ID = 31677]
Correct Answer :-
e 1766

[Option ID = 31674]

39) The evaluation of the behaviour and beliefs of people from other cultures according to one’s own cultural values is:

f&p2fl @ GRI sruct ARDITD Feil D AR 310w AT F T St REFKET [egRi @ detioa 3:
[Question ID = 7921]
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F'Sﬁm ﬁ?.a(aaﬂa@m) [Optlon ID = 31680] .
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Correct Answer :-

e Ethnocentrism/zasiRI-3cassedr 3 fdeary (vemiRicfssar) [Option ID = 31679]

40) Which of the following sociologists has studied the relationship of suicide with other aspects of social and economic
behaviour ?

A FAAIARY Riosiol ez & ArHIRID 3R i RMasr A FHder Bl A, a6 3:
[Question ID = 7922]

1. Karl Marx/rcf st [Option ID = 31682]

2. M. N. Srinivas/uaual. offfsrart [Option ID = 31683]

3. Max Weber/da=1 da= [Option ID = 31684]

4. Emile Durkheim/ufdrer gxdar [Option ID = 31685]

Correct Answer :-
e Emile Durkheim/ufiter gxfar [Option ID = 31685]

41) Choose one word that is suitable for both sentences:
Sentence 1: The ......... of wood selected by the interior designer was exceptionally beautiful.

Sentence 2: It was a state of crisis. Immediately, the government constituted a .......... to discuss the course of action
required to calm the situation.

Choose one word that is suitable for both sentences:

[Question ID = 7923]
1. Panel

[Option ID = 31686]
2. Committee

[Option ID = 31687]
3. Plank

[Option ID = 31688]
4. Consortium

[Option ID = 31689]

Correct Answer :-
e Panel

[Option ID = 31686]

42) Choose the correct option to fill in the blanks:

“Now it was Ali’s turn to travel, .................. who gathered at every station ...........cc.c...... . to passionate speeches.”

[Question ID = 7924]
1. rouse the crowds; to listen

[Option ID = 31690]

2. rousing the crowds; to listen
[Option ID = 31691]

3. rouse the crowds; for listening

[Option ID = 31692]
4. rousing the crowds; to listening

[Option ID = 31693]

Correct Answer :-
e rousing the crowds; to listen
[Option ID = 31691]
43) ‘dire diad oi. 203 oireln AURL Bl b ferar &2
[Question ID = 7925]
. Jrgerrswt [Option ID = 31694]
z._aaaz.ﬁ;q.[.apxm.m_mw
3. R ggat [Option ID = 31696]
4. 3isfta [Option ID = 31697] www.FirstRanker.com

Correct Answer :-
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A rFircumeie’ dichmit acorn 22 . .
[Question ID = 7926] www.FirstRanker.com www.FirstRanker.com

1. 3w [Option ID = 31698]

2. wuaw [Option ID = 31699]

3. e [Option ID = 31700]

4. arordtes2or [Option D = 31701]

Correct Answer :-
e 3w [Option ID = 31698]

45) Josh Malihabadi is famous for his:

Sitor Fciisrardt fva & fero gfing 37
[Question ID = 7927]

1. Novels/3us=mt [Option ID = 31702]

2. Short stories/cgment [Option ID = 31703]
3. Poems/ofaars [Option ID = 31704]

4. Plays/smes [Option ID = 31705]

Correct Answer :-
® Poems/mfdars [Option ID = 31704]

Bds b g DI dfddr 3, RrR........ dfepar Bt &
[Question ID = 7928]

. Two/ax [Option ID = 31706]

. Four/arz [Option ID = 31707]

. Six/=s [Option ID = 31708]

. Eight/amo [Option ID = 31709]

A W N -

Correct Answer :-
e Four/ar [Option ID = 31707]

47) Who wrote the poem, ‘Kambdi Kalai’?

‘adt wers’ wfdar & Fakar ofd dier 37

[Question ID = 7929]

1. Prem Chand/gsric [Option ID = 31710]

2. Mohan Singh/ziger Ris [Option ID = 31711]

3. Bhai Vir Singh/em$ dtz Ris [Option ID = 31712]

4. Shiv Kumar Batalvi/fer @#aR gererdt [Option ID = 31713]

Correct Answer :-
e Bhai Vir Singh/sms iz 8is [Option ID = 31712]

48) ‘Rasidi ticket’ is the autobiography of which of the following?

‘Rt Rave’ bt &t sicamen 3 ?

[Question ID = 7930]

1. Ajeet Kaur/smslia @iz [Option ID = 31714]

2. Dalip Kaur/gefta @iz [Option ID = 31715]

3. Amrita Pritam/smrer giqet [Option ID = 31716]

4. Khushwant Singh/xgerda RBis [Option ID = 31717]

Correct Answer :-
® Amrita Pritam/sm@gar fiaa [Option ID = 31716]

49) Which of the following subject area has been explicated in ‘Lilavati’ written by Bhaskaracharya ?

forgot 31 A fov2r farwRr avg &t fadaon sRr@mIarl grr fiiRaa ‘diaradl’ 3 & a1 3?7

[Question ID = 7931]
1. Mathematics/aifor

[Option ID = 31718]
2. Surgery/ i ffdean

[Option ID = 31719]

3. Grammar /e www.FirstRanker.com
[Option ID = 31720]
4. Theatre/siicar one]
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[Option ID = 31718]

50) Which one of the following books is not written by Kalidasa?

forgot 3 A1 it 2l Bfer wIfercRT 6 Faom 18t 3?
[Question ID = 7932]

1. Meghdoot/dEga [Option ID = 31722]

2. Geet Govind/sfia sifie [Option ID = 31723]

3. Raghuvansham/zgdore [Option ID = 31724]

4. Kumarsambhava/mam=isa [Option ID = 31725]

Correct Answer :-
e Geet Govind/sftla siffdfe [Option ID = 31723]

51) Complete the series: ADR, VGP, RJN, NML, ?

9jen @ gzr ®3: ADR, VGP,RIJN,NML,?
[Question ID = 7933]

JPJ [Option ID = 31726]

JOJ [Option ID = 31727]

JPK [Option ID = 31728]

IPJ [Option ID = 31729]

A w N =

Correct Answer :-
e JPJ [Option ID = 31726]

52) In the question below three statements are given, followed by conclusions I, II, 1lI, IV.

You have to take the given statements to be true even if they seem to be at variance from commonly known facts. Read
the conclusions and then decide which of the given conclusions logically follows from the given statements disregarding
commonly known facts.

Statements: Some Cats are Rats. All bats are tables. All Rats are Bats.

Conclusion:

I. Some cats are bats.
Il. All bats are rats.
lll. All tables are cats.
IV. All bats are cats

o f&u s1w yeot 3 il were U s1w 3, 3uad ars forswd I, U1, 111, IV E

3TUD! 3T 318 derell DI AT JAlololl 3, Ml 8 d ATHATo=I: SIId aezil A fiool Yelia 2l af  forcood ug siiz ok ¢ i U s1e werell 3 A dler AT
foreael ArATGRIC: S el bl sradctell B Y U 318 Deroll DI AIfSD WU A GIAVT BT 3

Deel: BB fafecril gg 3 Wil TerPNes taa & il g aweIes 3

forso:

|. oo ffecrit aurnes 3
Il. 2190t cPIGS @ &

lll. 20sft eaer fafecrit &
IV. 2191t Torencs fafecrii &

[Question ID = 7934]
1. Only | & Il are true/a@det | 3R || 311 &

[Option ID = 31730]
2. Only | is true/aet | =1 8

[Option ID = 31731]
3. Only | & IV are true/a@ac | 3iz IV a1 &

[Option ID = 31732]
4. Only Il true/oae |l s 8

[Option ID = 31733]

Correct Answer :-
e Only | is true/odaet | A1

[Option ID = 31731] www.FirstRanker.com
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A>S>Q
A<M
Conclusions:
I. N<aA

ILM>T

>’ o1 3ref 3 ‘sIA @31’ ‘<’ BT ek T ‘SIA dA’
forgotferRaa werwil uz frar @3 3l A fawcu got
Q>T>N

A>S>Q

A<M

foropet:

I. N<A

IIL.M>T

[Question ID = 7935]
1. both conclusion | and Il are true. /forsad | siiz || Glotl 31 &

[Option ID = 31734]
2. neither conclusion | nor Il is true. /st o forsad | 3fie of &t 11 J¥er 3

[Option ID = 31735]
3. only conclusion | is true/@qct foread | 31 8

[Option ID = 31736]
4. only conclusion Il is true/daet foreaptt |1 it 3

[Option ID = 31737]
Correct Answer :-
e both conclusion | and Il are true. /forasd | siiz |1 Qoit 2feer &

[Option ID = 31734]

54) The letters in the first set have certain relationship. On the basis of this relationship what is the right choice for the
second set?

AST : BRU: : NQV:?

uacl A3g A ARl DI v fo1fRid ider 3 31 Ade D MMUR R, G APg D feru Adl fapeu o= 37
AST : BRU :: NQV : ?

[Question ID = 7936]
1. ORW

[Option ID = 31738]
2. MPU

[Option ID = 31739]
3. MRW

[Option ID = 31740]
4. OPW

[Option ID = 31741]
Correct Answer :-
e OPW

[Option ID = 31741]

55) The average of four consecutive even numbers is 27. The largest of these numbers is:

ar 3ropemmatl At Hensit 1 s 27 & sor AwAnsi { i PR FETRER ReF-.com
[Question ID = 7937]
1. 36 [Option ID = 31742]
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56) Monday falls on 20t March 1995. What was the day on 3" November 1994?

20 Jir<t 1995 ol AER usar 8 3 odez 1994 oI o= ot ar?
[Question ID = 7938]

Thursday/sRear [Option ID = 31746]

Sunday/3fdarz [Option ID = 31747]

Tuesday/sisrerar [Option ID = 31748]

Saturday/ eiforarz [Option ID = 31749]

A W N -

Correct Answer :-
e Thursday/sRear [Option ID = 31746]

57) In a certain code, PAN is written as 31 and PAR as 35. In this code PAT is written as:

uep forf2ad ®rs 3, ol &I 31 3iiz PAR &1 35 @ u 3 foran St 3 331 oIS 3 PAT &l fdpa1 Yoo ferar siar 3.

[Question ID = 7939]
1. 30

[Option ID = 31750]
2. 37

[Option ID = 31751]
3. 38

[Option ID = 31752]
4. 39

[Option ID = 31753]
Correct Answer :-
e 37

[Option ID = 31751]

58) In a cross-country race, Ritesh is behind Lalit but ahead of Amar. Amar is ahead of Vikas. Pankaj is ahead of Amar but
behind Ritesh. Who is at the end?

T DA Bl ois 3, Fa9r cfera A fiD  Aifchat 3P A 36l & fABRI A 3P 3R 3 Udbel 3PR A 3MI6! & difdbot f¥eer A WD 8 3nf¥az 3 Blot 37

[Question ID = 7940]
1. Amar/3pR

[Option ID = 31754]
2. Vikas/Riwrr

[Option ID = 31755]
3. Pankaj/dast

[Option ID = 31756]
4. Ritesh/fxer

[Option ID = 31757]

Correct Answer :-
o Vikas/faorx

[Option ID = 31755]
59) Pointing to a man in a photograph, a woman said, "His brother's father is the only son of my grandfather.” How is the
woman related to the man in the photograph?

T a¥dl 3 v 3mcHl Bl 317 $IIRT B §U, U ARSel of @al, "3AD HIE D far IR g6l D sclid de 3 " adlz 3 gay A Adlea afden oot
3?7

[Question ID = 7941]
1. Aunt/ardt

[Option ID = 31758] www.FirstRanker.com

2. Sister/«sar
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[Option ID = 31761]
Correct Answer :-
e Sister/ssal

[Option ID = 31759]

60) In the following question, find the value of x:
X + 3X + 4x + 5x = 39
oiicl feu Fefiap2ur 3 X I e a=al sem?

X + 3Xx +4x + 5x = 39

[Question ID = 7942]
1. 3

[Option ID = 31762]
2. 4

[Option ID = 31763]
3.2

[Option ID = 31764]
4.5

[Option ID = 31765]
Correct Answer :-
e 3

[Option ID = 31762]

61) Given below are one question and two statements numbered | and Il. You have to decide whether the data provided in
the statements are sufficient to answer the question. Read both the statements and give the answer:

Question: What is the distance between point P and Q?
Statement I: Point S is 4m away in east direction from point P. Point T is at a distance of 2m north of point S.

Statement Il: Point Q is in north-west of point T.

ofiY uas geot 3iiz Sf weret | 3iiz |l 3w s1e 3 31U A1 R @il B1om b @erell 3 =1 R 3T 34z Sol @ fore wrify 2 2am oidl Slell derell o ug
3R IR <

gest: fig P 3z Q & dia & gft a=m 3?7

weor | 1 RigS, Rig P A yd Ron ai 4 ficz 33 RigT, Rig S & 2 ez sz a1 3

et |I: fig Q, Rig T & sa-ufker 3 3

[Question ID = 7943]
1. The data in statement | alone is sufficient to answer the question, while the data in statement Il alone is not sufficient to answer the
question. /@26l | @I Set 3idel Yool DI 3R gol D fere wRifd 3, Swefs dweror |1 3 e s siids yset @I 3= Sol D e wifd ofdl &

[Option ID = 31766]
2. The data in statement Il alone is sufficient to answer the question, while the data in statement | alone is not sufficient to answer the
question. /3r@el @erel |1 3 Ser Ysol I 3R Sol D ferw wild &, Safds aeret | 3 Ser Ysol Pl 36 Sol D fére weifd ofdl &
[Option ID = 31767]
3. The data either in statement | alone or in statement Il alone is sufficient to answer the question. /et | 3 =1 deror |1 3 /el Yot @I IR ol D o uaita
3eT ofdl 8
[Option ID = 31768]
4. The data even in both statements | and Il together is not sufficient to answer the question. /| siiz |l Sl wereil 3 #ft Se1 Yoot @I 32 ot D o wify ordt 3

[Option ID = 31769]

Correct Answer :-

® The data even in both statements | and Il together is not sufficient to answer the question. /| siiz || Sloil @wereil 3 8ft ScT Yoot T 3012 St D e weify ordl &
[Option ID = 31769]

62) Riya goes 30 km towards North from a fixed point, then after turning to her right she goes 15 km. After turning to her
right, she goes 30 km. How far and in what diregfigmis FhestRe e skactingpoint?

¥ v foifaaa feig 3 30 Rpeiisfies 3ar &l 3k Siredl 3, b 3D o1 3R Psol D a6 as 15 Rpedldfies siefl 3 531D @16 a6 o1 3k Ps2 30
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2. 15 km West/15 fbeiuficz ufzmr 3 [Option ID = 317711 WWW.FirstRanker.com www.FirstRanker.com
3. 30 km East/30 féseiafies gd 3t [Option ID = 31772]

4. 30 km South/30 fepeiifies afér 3t [Option ID = 31773]

Correct Answer :-
e 15 km East/15 fpelafies gd 3t [Option ID = 31770]

63) Given below are two statements. Read both the statements and choose the correct option:

Statements: All laptops are computers
Some laptops are notebooks.
Conclusions: I. Some notebook are computers

Il. All notebooks are computers.
oI €1 erol feu a1w 3 Slell werell ! ug 3R I 3¢

werer: Al duciu PRI &
forseptt @ | BB ollcgd PRI &
II. z0ft sltegm Bz 3

[Question ID = 7945]
1. only conclusion | follows/dder forcad | werer & srReu 8
[Option ID = 31774]
2. only conclusion Il follows/daet forsatf || @verer @ sigReu &
[Option ID = 31775]
3. both conclusions | and Il follows/gell forsad | iR || et @ seRAu &

[Option ID = 31776]
4. either conclusion | or conclusion Il follows/ar i forstt | = forsat || averer @ sroeu 8

[Option ID = 31777]

Correct Answer :-
e only conclusion | follows/daet foread | @erer @ sigReu &
[Option ID = 31774]
64) Which sanctuary in Madhya Pradesh has been declared as Eco-Sensitive Zone by the Government of India?
IR YGII 31 foPA BRIRUA DI HRA IRPR GRI TRITGRVI-AdgaIofier g afta v srim 37
[Question ID = 7946]
1. Ghatigaon Wildlife Sanctuary/ardistia aeersfa swrmver [Option ID = 31778]
2. National Chambal Sanctuary/dRr daet sprmuer [Option ID = 31779]

3. Kheoni Wildlife Sanctuary/Ra=ieft aser Sftaer smermver [Option ID = 31780]
4. Ratapani Tiger Reserve /3l erssr f¥srd [Option ID = 31781]

Correct Answer :-
e National Chambal Sanctuary /g daet srmzvr [Option ID = 31779]

65) When was the International Finance Corporation (IFC) established?

sieisdl fom foeman (IFC) &t oot wa & o1 ofi?
[Question ID = 7947]

1. July 1956/gt 1956 [Option ID = 31782]

2. April 1956/aier 1956 [Option ID = 31783]

3. June 1980/35et 1980 [Option ID = 31784]

4. August 1980/apre 1980 [Option ID = 31785]

Correct Answer :-
e July 1956/gems 1956 [Option ID = 31782]

66) The super-computer ‘PARAM’ was developed by:

Ju-oRI2 'PARAM' @81 faoof3ra fopan srr em?
[Question ID = 7948] www.FirstRanker.com
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Correct Answer :-
® C-DAC/3f-3@ [Option ID = 31787]

67) The first Indian chronicler of Indian history was:

HRRI s @I usel SRR sfeeRIOR ar
[Question ID = 7949]

1. Megasthanese/dsremtst [Option ID = 31790]
2. Fa-Hien/wifgamer [Option ID = 31791]

3. Huan Tsang/sgaimet st [Option ID = 31792]

4. Kalhan/@iIcga [Option ID = 31793]

Correct Answer :-
e Kalhan/@resar [Option ID = 31793]

68) Tamil Nadu coastal belt has drinking water shortage due to:

afdrcrons, adl dec 3 ol @ urelt 6l @walt b1 BRUT 3 ©

[Question ID = 7950]

high evaporation/3ca ardiaszur [Option ID = 31794]

sea water flooding due to tsunami/Jemeft @ @RI WG @ uel 3 are [Option ID = 31795]

over exploitation of ground water by tube wells/sreraul gRI 855t @I clget [Option ID = 31796]
seepage of sea water/md} skt @1 f¥ma [Option ID = 31797]

A WN =

Correct Answer :-
® seepage of sea water/mIc} Siet @1 f32mma [Option ID = 31797]

69) Which of the following has recently received World Heritage Certificate from UNESCO in February 2020?

forrarferRaa & A fopl weast 2020 3 Joreod! A g RRRIA Yo yra g3m 37
[Question ID = 7951]

1. Pushkar/gwsz [Option ID = 31798]

2. Ajmer/smER [Option ID = 31799]

3. Jaipur/srigz [Option ID = 31800]

4. Jodhpur/shegz [Option ID = 31801]

Correct Answer :-
e Jaipur/srigz [Option ID = 31800]

70) The paperless session of Arunachal Pradesh Legislative Assembly began with the implementation of which app?

BUIIEIE Y9I frenerRisil o1 QuRerd 3¢ 51 U & wrifearior A 9Rs 33117
[Question ID = 7952]

1. E-sabha/$-3mem [Option ID = 31802]

2. E-vidhan/$-faemer [Option ID = 31803]

3. E-Arunachal/s-spumraet [Option ID = 31804]

4. E-Desh/$-3eor [Option ID = 31805]

Correct Answer :-

e E-vidhan/3-faemer [Option ID = 31803]

71) For which well known industrialist did Mahatma Gandhi say that while he (Gandhi) was fighting for India’s political
freedom, the industrialist was fighting for India’s industrial freedom from the British?

fopa1 yRig Selierufer @ fere starcan stiehl of war o1 b S a6 (s1ieht) sRa &6l sweifie Fadgar @ e os W} 9, dl Js Jeienfa arRa ot
iR Faddgar @ fere siE)El A s @ A7

[Question ID = 7953]

1. Ardeshir Godrej/3éfor sig¥st [Option ID = 31806]

2. Ramnarain Ruia/3@eRrr s [Option ID = 31807]

3. Jamsetji Tata/swigcstt erer [Option ID = 31808]

4. Maharaja Sayajirao Gaekwad /@R RIGHRE sRI@ars [Option ID = 31809]

Correct Answer :-
e Jamsetji Tata/Swidiestt erer [Option ID = 31808]

72) Which of the following events led to a fear of global_recession and fall in stock markets in the first quarter of 20207
www.FirstRanker.com
fotgat 31 31 fopa acon & dRur 2020 & uscll fedl 3 dftawm il 3k IRR a=IRI A BrIac o1 323 Jon?
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4. The withdrawal of US troops from Afghanistan/smwenforzdrer 3 3@t 3ot 6 amazft [Option ID = 31813]

Correct Answer :-
e Qutbreak of coronavirus/@RIearR a1 Yo [Option ID = 31810]

73) Which of the following country is going to host Commonwealth shooting and archery championship in January 2022?

Stotast 2022 3 iol AT S9I PDidcidee 9ffest iR dikeell AfFuzreidrg &l Fstarcil ol s a1 37
[Question ID = 7955]

1. Russia/za [Option ID = 31814]

2. India/ema [Option ID = 31815]

3. China/der [Option ID = 31816]

4. England/gscls [Option ID = 31817]

Correct Answer :-
e [ndia/sma [Option ID = 31815]

74) Which country is ranked at the top in the year 2019, for crude steel production in the world:

fora 31 ol s3uTa @ Icurcel @ fere ad 2019 3 b1 Sor o1 ofid Femar f=m s 3?7
[Question ID = 7956]

USA/3iep 3rs s@ifsar [Option ID = 31818]

China/<fet [Option ID = 31819]

India/ema [Option ID = 31820]

Japan/smuret [Option ID = 31821]

AW N =

Correct Answer :-
e China/dlar [Option ID = 31819]

75) Which of the following are features of ‘Safe Digital Banking’?

A. Registering mobile number and email with banks for transaction alerts.

B. Storing banking data safely in email apps for easy and safe access.

C. Changing banking password regularly.

D. Sharing banking passwords with family members or friends in times of emergency.

forgatferlRaa 3 21 et Ml fa RBfSrea dfper &I fadruars 3?7

A. de1ct 3rcré o fore Sl & ATer Aldrsd oiaR 3R $arel gl doln

B. siraret siiz ARMdra uga @ fere $arer Yu 3 FRMga wu A dfdser Ser Jsdla won

C. §fver uraas ol orIf¥a U A dgclon

D smurawrcilel 6RT @ fore uf¥ar & AT a1 Il & ATer AfBoT URIaS AT BIol

[Question ID = 7957]

1. Only A, Band C./®acr A, B siiz C
[Option ID = 31822]

2. Only A and B./dact A siiz B
[Option ID = 31823]

3. Only B, C, and D./d@aa B, C 3iz D

[Option ID = 31824]
4. Only A and C./dact A siiz C

[Option ID = 31825]

Correct Answer :-
® Only Aand C./@ac A siz C

[Option ID = 31825]

R pIed Hdol (IST)uR ASERI BRIIEI of Th Rl foRWbled Hdol 3id frRia fewn 8 fRI®I ol ................. 3
[Question ID = 7958]

1. Finder-X/w$s2-X [Option ID = 31826]

2. TLoc-X/eeli-X [Option ID = 31827]

3T EDTTECHOMT-X7$3ecIior- X [Optiom 1ID="318287

4. Ralder-X/3es2-X [Option ID = 31829]

www.FirstRanker.com

Correct Answer :-
e Ralder-X/3cs2-X [Option ID = 31829]
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:I .1b l‘E&tBa I.ecn.ms and is not able to do simple operations of addition and subtraction.
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TP CISD DI AT AR DI ASTol A W9IIGhl Xl 2 3R ag SIS 3iiz Tcra @1 AXcT AdIcTol Mol 3 AL oidl alar & forsaifciRaa i A et
sifeera faasctiorar A Hifsa slor &1 Fsiraon 3?7

[Question ID = 7959]

1. Dyspraxia/f&gfdrn [Option ID = 31830]

2. Dyslexia/fSafdrn [Option ID = 31831]

3. Dyscalculia/fssderpfern [Option ID = 31832]

4. Dysphasia/f&ofsrn [Option ID = 31833]

Correct Answer :-
® Dyscalculia/fE¥derafern [Option ID = 31832]

78) Name the area in the brain which is associated with strong emotions:

Af¥acE D A &I BT olH adId Sl ofiqg BT A 3T 3:

[Question ID = 7960]
1. Medulla/ae=or (Frsem)

[Option ID = 31834]

2. Cerebellum/sepiRRaws ( AR¥demwr)
[Option ID = 31835]

3. Cerebral cortex/ysf3awn (AT dicat)

[Option ID = 31836]
4. Limbic system/sezrior ( dse)

[Option ID = 31837]

Correct Answer :-
e Limbic system/arezior ( disem)
[Option ID = 31837]
79) Children who have marked difficulties in social interaction and communication across different contexts, a restricted
range of interests, and strong desire for routine may have which of the following:

foror & A Roa1 3 ARNRIE sia:RzT 3z AYuUT Blordl der Bt afiol B =asR! APBRR iz SRR B Jerse! 3 Biders rdl 3 3o
il @ Rafiioor 2icsil @ sicola @D sia:Rez aiiz AFYuvT 3 fdons A 3, Iorbl aga AMfa ABBRRT At § aen Joat v Brafia Roraraf
& i sTor Bl 3

[Question ID = 7961]

1. Attention-Deficit / Hyperactivity Disorder (ADHD)/srazrrel-o=foren sifetfegan ez [Option ID = 31838]

2. Autism Spectrum Disorder/acfiorar aviay fder [Option ID = 31839]

3. Intellectual Disability/difga srorpar [Option ID = 31840]

4. Specific Learning Disorder/fifore siféprr famr [Option ID = 31841]

Correct Answer :-
e Autism Spectrum Disorder/¥acflerar auiagr farz [Option ID = 31839]

80) Identify one of the primary goals of any treatment for anorexia nervosa is to:

&JeI 3T (TolRRRRIT ordfar )@ feru fop=ft 91t Suamre @ yrefdre gl 3 A1 v @l usdrol:
[Question ID = 7962]

1. Replace binge eating with other behaviours/aifsrifeiT sisior @ 3foer wIasRI @ el agct [Option ID = 31842]
2. Reduce weight to normal levels/dstor @1 @G 32 dd da o3 [Option ID = 31843]

3. Increase weight to normal levels/dster @t 36T 2 dd dge [Option ID = 31844]

4. Stop the individual from eating/=afep @I 2wl 3 3D [Option ID = 31845]

Correct Answer :-
® Increase weight to normal levels/dster @1 2Merer a2 dd game [Option ID = 31844]

Topic:- BED S2 hindi P1
1) foafciRaa sweror @I ug 3R 37 WR 3mentyd fordot gooil @ 3R &

prRIPH] gl &I it area 3 b a6 ue-feram: ‘w31 cdl’ ol | 331 ared 3 < 31Uo! MUD] Fdhel D cacllel AP dl o S 3, g ufR-aferaor
Sddlol 62 Icd olal Uld |

Sl 9E) D D AT UGHE DIl A 3, TAT T DI ey 3HY StIRa R K e nfl| sod fe siftifyes wrazen @z, Joid> Ausil o oft
Fapel 3 SR8 Sol UR [ & orél o= sRi1 | A1l PRvI 3 b e 3 3o areAfdies ¥R 3R] 9ol 3 cPewPI 38l §<d Fayel ofdl SIr urd |




.‘ 3 37t AFATGISIoID afla> A 18 gra w2 A Al el saazenm @1 alicn doiren 3ot |
:I 4 | > ' b et ereeil 2 It il orfiT e s aeToT A e v | et A o

,.lﬁﬁﬁ@m'ﬁthW@aﬂmwzﬁammfbmaaﬁaaﬁvﬁ, ad a6 va 8 orfl 3| ageader St Ht vm
Frearé 3 otz 531 aga & wdcerefiaar, soran sz wrasAMs R S IRANCET GO M 3 sor VWS STRARKET 6@ Fom s
oiifer forarfarsii siiz fArere! 3t ageraust &t Fuse st wofl A

YA TEnor 3 a31 el ores fopa oot 3 YRITe g3 3?7

[Question ID = 7964]
1. @R® et D Aocef 3

[Option ID = 31850]
2. el 3ncHl D Aocef A
[Option ID = 31851]
3. 38R 3icH D AFoaef I

[Option ID = 31852]
4. gg sucHl @ Aot It

[Option ID = 31853]

Correct Answer :-
® Wt 3iGH! B Aoqef 3t
[Option ID = 31851]

2) forvoifarlRad sren9r @1 ue 3iiz 3 u= menf¥a forsol gosll @ 3aR <.

oRieH] gl &I it ared 3 oo a6 ue-feram: ‘w31 cdl’ ol | 331 ared 3 g 31Uo! MUD] Fdel D cacilal AP dl o S 3, g ufR-aferaor
SAIGT 33 Rab odl ura |

Il gl Dl D AT UGS DIl ABA 3, TRAI I@el DI AIARYI IoId 3foime 37 e ol | 3o e siferf¥ed wraven @2, 3o Aual @I o
Il i SPIE Sol UR faar 3l orél fipwn srn | ét ®rul 3 fop sRA 3 3ca Al IR 3Y a0l 3 cPBET M8 Tl I ofdl i urd |

3PR 3 UIEA 3 5 Fayer v V2l SP1s 961 SIeT PRIBK aw 31t FeHTosIord asids A fAreh gra @2 ADS dl PIgn =razen @l cdic doltoll 31T |
&3l TP el BN b ATDI FEueT T AT-o181 BT | ArTeA uf¥ar] @ sl @ ey iR i <l @ Faue 3 Jgd 3iar 3| Fmell 3 ol
PrAPDGI gl D fé1u 3r@aRR SR Ffaent s/ ad 51 zfte iR st D A1 o181 €1 SIell, ag am s M4 & ol 8| dgeaye AT Hf v
Jcarg 3 3 33 ggd & Adcaofierdl, SeRAr iR RIasIf¥e ST D AT ST Siell aifde | 1811 A sol adl oI JsME il Jew 3 Ma den s
ofifer forarfaait silz forerpl 3 agerayct 6t Fuse et @ofl 3|

gqd drenol A “cacllsl” 916 I GRIMI ...... @ U 3 g3 3|

[Question ID = 7965]
1. srafer

[Option ID = 31854]
2. Hopac

[Option ID = 31855]
3. gsdt

[Option ID = 31856]
4. Pasdl

[Option ID = 31857]

Correct Answer :-
o 333
[Option ID = 31856]

3) fowifer3aea sterior o ue 3iiz 3 uz smenfed forasr gesll & Ia= 3.

PRl Tl &I it area 3 6 a6 ue-feram: ‘w31 cdl’ ol | 331 ared 3 9 31Uo! MU Fdhel D cacilel dd dl o oI 3, g ufRaferaor
FarGI 33 foas orél urd |

il g Dl D AT UGS DIl ALBA 3, TRAI I@¢l DI AIARYI IoId 3Molde 3! [dcme ol | o1 e siferf¥ e wraven @2, 3e1d Ausl &I ot
Fael 3 SPIB Sol UR [ & oél o= sRi1 | A1l PRvl 3 6 sred 3 3o areAfdis ¥R 3R] 9ol 3 PP 318l S Fayel ofdl SIr urd |

PR 3 UEA 3 5 Fayer v V2l Se1s ol SIel BRIBKT aod 91t FeHToTsTord asid> A e gra @2 AD dl PRI wrazen @ cdic doltoll 31T |
&3l TP el BN {5 ATDI FeUet T AT-o181 BT | ATeA Uf¥ar] o gl @ ey 3R o a<dl @ Faue 3 Jgd siar 3| el 3 ol
PRIGH Tl @ e sk ik JfAend S| am 53 zfte sk As1 D A1 o1dl 3 sdehl, aa am us a & ordl 3| Sgaaue Fars & T
Jcarg 3 3R 33 ggd & JAdcaofierd, TRl iR RIasIf¥e ST D AT ST Siiell aifde| 181 A sol a<dl oI JsM[ il Jow i g den s
oiifer forarfansil siiz 181l 31 Sgarauot ot Tusc st Joil 3l |

www.FirstRanker.com

[Question ID = 7966]
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M Firstranker's choice

[Option ID = 31859]
3. fprmfadmor

www.FirstRanker.com www.FirstRanker.com

[Option ID = 31860]
4. fador

[Option ID = 31861]

Correct Answer :-
® fagur
[Option ID = 31861]

4) forafeiRaa srenr al ug iR 3A UR smenfda forger gooil @& IR <

PRl Tl &I it area 3 6 a6 ue-fera®m: ‘931 e’ ol | 331 ared 3 9 31Uo! UMD Il D caclldl dAd dl o I 3, g ufR-aferaor
FarGT 33 o orél urd |

il g D D AT UGIE DIl LB 3, TRAT I@¢l DI AIARYI IoId 3Moide 3¢ e ol | o1 e siferf¥es wraven @2, 3o1d Audl &I ot
F@pel 3 SPTE Sol U faanr &t orél fipen sri | & ®rvl 3 fop MRA 3 Ica Al FaR 3R a0t 3 cPBPT M Tl el ofdl S urd |

PR 3 UEA 3 5 Fayer v V2l Se1s ol SIeT BRIBK aod 91 FeHToTslord asid> A e g @2 AD dl PRI wrazen @ cdic doltoll 31T |
33l TP Dol BN {5 ATDI FeUst T AT-o181 BT | ATGA Uf¥ar] & Tl @ gaue iR ofdre a<dl @ Faue 3 Jgd siar 3| @il 3 ol
PRIDH Tl @ e sk ik Jfrend s am s efte sl A3 D A1 o1dl St sdehl, aa am Ae a & ofdl 3| Fgaaue Fars & T
IJeard 3 3l 33 9gd & dAdceelierdr, IoRdr ik cIasIiy® AHST D ATA S Sitell anfze | 1811 A sol ae=ll @1 J3M il Jord 3iie FAna Blon sia
siifer forariarsii iz frgrol 3 sgerIUsT dI Fute AT oil I |

gyl 916G 3 ‘ag’ a=m 37

[Question ID = 7967]
1. 3upet

[Option ID = 31862]
2. feem

[Option ID = 31863]
3. y=rI

[Option ID = 31864]
4. fepRnfadur

[Option ID = 31865]

Correct Answer :-
o 3Iuet
[Option ID = 31862]

5) forgetferfRaa srerior o ud 3iiz 37 U= smenf¥a forer gesil & Iaz 3

DRIDEI gl DI off ared 3 [ as ue-feram: ‘9T 3rcHl’ Joi| 321 ared 3 S 3ol MU el D Gacllel ad dl o S 8, g ufRerferaor
1T 32 fRap o1l ure |

SIl 91 DI D AT UGS Dol A 8, TR el DI dIAraRYl Ioid 3loldyel 8¢ [deapel oidl | ot feru sifeifyed caazer @3, Soid> Auell oI it
Il 3 SPTE Sol uR faanr &t ordl fopen sk | &t ®rvr 3 {5 MR 3 Ica aeAfdies FaR MR aof 3 ceBET M T Fael ofdl Sif urd |

IPR & aIEd 3 b Fayel v Wl SP1e ol Siel PRIdsl aad 8t AFHToTsTold astas A 18 g @2 A al fArsn saazen ot oreficr dotron 3T |
33l ¥R Dol BIPT {5 AGDI FaUel T AT-o181 BIer | TG uf¥ar] & Tl & ey iR e acdl & gaue 3 agd siar 3| F@ell 3 ol
PRIBH gl B fo1e 3rarR ik Yfaend s ad 3371 efte sl s B AT ol & Sdsfl, aa as s 2isa & ol 3| agaaudt st bl vr
Ircars 3 3R 33 9ga & Adcerefierdn, ordr iR RasIf¥e ST D AT ST Sitell a1fdu| 181 A sof Tl BT JsTa il Jo[I 3 I PN S
oiifer forarfasii siiz forgrml 3 dgarayst &I Fuse AT Jofl 3 |

Fapell 3 AP gl DI ¥l Fearel Sol @ fere b YR &I 19181 sraz-en & smoaadr 37

[Question ID = 7968]

1. eramuf foren crazen
[Option ID = 31866]

2. errelayuf for8 cerazen

[Option ID = 31867]
3. [aciapa 98T crazern

[Option ID = 31868] )
4. Ry Rign wrazen www.FirstRanker.com

[Option ID = 31869]
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Topic:- BED S2 hindi P2

1) forgarfeiRada srerior oY ue 3z 3 U smenfyd forrer gl @ 3az 3

forggen &I yreflot, Iaut a1 A rRIBIA crazen A1gn @ dpfeud Areel @ WU 3 fpR1a & st rmdl 3 ot fob Slsal @20l arcll Raven @ ¥»u i
foretr I A3 all D srafdreu Aol uR yferde cemel A Ica stelfursial @l 3 A8 @Il PRI I foIivT Bl BT ThHI ER a1 A
SIIAI 3B 33 3 d IRR I ) 331 Rror dedl g SRISPIRT arel 53 $91 3 IRISPIR Iucise] 8l AD dul el Jar i fadum: acy Afdersil
@ foru ot s Ucr fopu 5T A1 Afbol 3 A 91 Deoll & fob DI Tcan Sl Uge ad ol 3R A I 3 3R fencrr 3 18l 3, a8 ardT sl 8 as
qgd gxd &l 9 3 b HRa o saldreu giq A SAKIaR A1 3idr & i Prcumnrl @ sl @I 8l A6 golid @il & b d a1 dl 3felug I8d gu 3dol
gdsil @ oloret AR (33 YdR A B B g AR wlaif¥es ir1 3 3rueln AMeIeret $a 3v) At fis: siiueanfyae forem of

STV 3I1R IS BRI <1 Sirel aretl {91811 @ PBRA IR P $¥d 3T As Pal Sl APl 8 [ 3 YR & siiuaniea Faxeil 318 3o gl ol sifasr 3
arraa # Siiferearsior d5 Ao Foltol 3 M oidl 3 2UIehiiz I ue il Taa fdrerd srueht SAET U= IR alar 3 Sfore suf¥af e i
BIAISR DI 3, 3R fib2 ¢feee smss @ u 3 Sidrdl A acr siar 3

IR Rre A8 U SRedl RRier 3, 18l o1dl, RrRI®1 o181 Arctepw &I Ul @ gu 61 sl 3 u3g @RI sl @ fere dofeu R1en @ IRk
Iuctet] & Sl oa Il MRe D ASPIR D JRR Yalol B2 AD TAT AICIYH FIATAN 3l ADdI 3 - YfI181uT 3z A9RDIBVT B uh 31fe[IIeT ole U
3? 3 ABK As FUTC D2 ol AT b 3 337 2 D 31ral Yol 3u A foreu &g @ ulegg=r 3 ¥ & §, fadua: uRulye @3y Ieiell 3 aer Jofdl i
FfFersii 21 FHdfera &

foreu wloreil # yfdregrr, aid ar 3 3l A1 URUR¥® IH-fOrs JAder @ ErI, @l siienfSrm Yfrsiur @ »u 3 usdrol Siiol bl a9Au®mdr 3 3R 3 AT
8 I AsAIPI ST S0l Dl Ma9ADmdr 3 SiAI b dwmoiidl 3R ATaIRiD 18 @ g PUl DI &A1 SIIelt & ufaR, AR, OCUPR, DRI
JAfdifer, ATl AT 3R IRDRI AFATH il b gidrevr < 3@ 3, 368 @O gitl SRe2 &I STiofl anfdu arfdp foRIpT & SSIRI a9 DI BB &6l fifet AD S d
51 3raf?r @ SRIol o AdA T o8l Al DiercT RRAT! & d&IoY dotids drcT 9Yf3al bl UZURT a5 319) IR Tl Clol I T Ycilelol AT 3N &l 2391
ST fop IR Yo siiz stiggeor @ @i Jeier 3 @ Sar 3 Sl Ae svafdrcu uifarf¥e Uon of 3% &2 ue a1 Jenet siferfafr 3 acerar s a1 8

(cett TRIasll, aA15es TR ol BB ¢3@IUe aaifa, 2003)

A AN

SWRfTp arenion A YRIxp g orec ‘fdrgiar’ wr aref 87

[Question ID = 7970]
1. IRISEIR 6 =azen

[Option ID = 31874]
2. yforgur clol b wRIaen

[Option ID = 31875]
3. oIl PdIel bl AT

[Option ID = 31876]
4. PR¥I6! Al Jollol Bl cIazel

[Option ID = 31877]

Correct Answer :-
® yfdrsiur clol bl crazen
[Option ID = 31875]

2) foroiferfRac sterior ol ue 3iiz 3A uz smenfyd forger gl & Iaz &t

forggen b yreflot, Iau o1 A FrRIBIA crazen 181 @ dpfeud 1eel @ WU 3 fpR1a & st rwdl 3 ot b Slsor @2l arcll Raven @ ¥»u i
foreTr A1 A3 gl D srafdreu Aol uR yferde] cemel A Ica stelfursiol @ol 3 AgrA @Il PRI I foIvT Bl BT ThHI ER a1 A
SIIAI 33N 33 3 d IRR Ml ) 331 R deedl §F SRISPIRT arel 531 $91 3 IRISPIR Iucise] 8l AD dul el Jar i fadum: acy Afdensil
@ feru st s Ucr fopu 5T A1 Afbol 3 A 91 Deoll & b DI T Sl Uge ad ol IRy A D 3 3R fencrr 3 o8t 3, as ardT sl 8 aB
qgd gxd &l a1 3 b HRa o sFaldrcu giq A SAIaR A1 3idr & i Prcumnrl @ sl @I 8l A6 golid @il & b d a1 dl 3felug I38d U 3Uol
gdsil @ oloret AR (33 YdR A P B g R wlRaif¥es ir1 3 31Ul APIeret $a 3v) At fis: siiuanfyae forem of

STV 3IR IS BRI <1 Sirel aretl {91811 @ PBRA ¥R P $¥d 3T As Pal Sl APl 8 [ 3 YR &I siiuaniea Faxeil 318 Io1 gl ol sifawr 3
arraa # Siifmarsior d5 Ao Folrol 3 M oidl 3 2UIehilz oI ue il Taa fdreid srueht SACT U= IR alar 3 Sfor suf¥arfr e i
BIIIGR DI 3, 3R fb2 ¢hwe sIss @ wu I Sivrcl 3 act ST 3

IR 1T A8 up SRedl RRien 3, 18l o1dl, RrRIm1 318201 arcrepw &I Urdl @ gu 61 sl 3 u3g @RI sl @ fere dofeu R1sn @ IRk
Juctee] &SIl 3os Rl MRE D ASPIR D FRR Yglol B2 AD  TAT AICIP FIAIART 3l Al 3 - YFAI8IuT 31 AIRDHIBGIUT & Udh SIferdrel ol WU
3? 3 ABK As FUTC D2 oIl AT b 3 37 2 I 31ra1 Yol 3u A foreu &g D ulsgg=r 3 3 & §, fadua: uRulye @3y I=iell 3 aer Jofdl it

Jifgersii A Adfera 3
foreu wloreil # yfdrgrr, aid ar 3 3l A1 URUR® IH-fOrsa Ader @ ErI, @l sfienfErm Yfrsivr @ »U 3 usdrol Siiol Pl a9A®mdr 3 3R 3 AT
e @I SIA9AD & olAl STl S dleCe, 19ICUDI3,

3 T
Afdifer, dAvere A1 31k ApHEl e sit 15 gfdrsmr S 31 3, 308, ;qtiﬁ amaﬂiﬁi?qmﬁimmﬁmﬁaﬁ@wﬁaﬁsha
531 3raf?r a5 SiRrel war ADA aﬁﬁﬁsmﬁmﬁaﬁ’a@%&ﬁmgﬁe%%ﬁmﬁmméﬁquﬁsmmaﬁmﬁ:%%ﬂ
Siat fb 3ar Yy oI 3iiz siiggeor @ @iz=a Jeher 3 Rxard Sar 2 sief as swafdcu uif¥aif¥a Oon of % &2 v asl Jeier sifafafer d acerar s @1 3
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[Question ID = 7971]
1. w8 3ca speliursior w2ol 3f AgwET @Il DRIdc ®I i o 8

[Option ID = 31878]

2. g docdt g8 SRISPIRT drel A GoI I FAJASPIR Juctee] DI 3
[Option ID = 31879]

3. g syt gar sl fadese adey Afdemsit & fow Aspmr  der wear 3

[Option ID = 31880]
4. ¥z qrel 9fdrd SRt srazern w1 M B 3

[Option ID = 31881]

Correct Answer :-
® 33 drel Yfdrs S sRIaerr ar WA BIAT 3

[Option ID = 31881]

3) foroiferlRae sterior o ue 3iiz 37 uz smenfyd foer gyl & Iaz 3t

forgger bl yrilol, Iaa a1 A Rl sarazen 151 @ dfeud Arerol @ Wy 3 [amR1a &I sit @l 3 of b Slgol @l arcll Rraven @ ¥u i
o112l PR Tl D seafdreu el Uz yfereey ool 31 3T iursial ol 3 A BICT PRI DI fo1IivT Bl DI THAHI AR 31 A
SITI 3330 331 8 d (AR 811 HI 3l FSIer] d6¢il g3 SRISIIRI drcl 33 ¢G9I 3 IARISPIR IUctet] 8 AD dl SJEvT Jar iR frogm? Ty Afdenaii
@ feru 9ft AR Ut fpu s A Afdbor FoY A6 oft el 3 o5 BIE acan SN Ugs ad 6l 3R] A A 3 3R fenert 3 o1&l &, as arar 9fdis 3 a6
a5 g¥ DI dId & b Ra @ Fafdey giq i SAGKR TAI 3idl 3 i RrcumRl & acdl I & A6 Yolld Dol 8 i d AT dl 6IuG 36 U AUl
gdsil @ wlore M (331 YR A BRI B U AR wlail¥as 3 3 sruelr APIerel Sa 8) A1 b2 situanfye fdrer o

sqafior 3iie IS ERI & Sirol arcil 18 @ Brea a3 @) $¥ad gu As @8l Sl ADdI & b 531 yoor & siiuanfya Fayeil 181 3of sl ool siferer 3
araa # Siifereiarsior d A5 Follol 3 A8 ol 3 20IehHR oI v vl T@pa fArerd srueht ST U= IR 3 3 Sform suf¥erfer Mree #
BIAISR DI 3, 3R fib= ¢ ass @ U 3 Sidral 3 e siar 3

I fere 18 U SIRedl RRidr 3, s1ldl o1dl, RrRImI 3c18201 dretep &I Uxdl w2 gu f6Ar siidr 3 u3g o=l =l @ fere dofeud 18 @ IR
JucTee] & Sl 308 Rl MRE D ASPIR D FRR YgIol B2 AD I JICIP SIAIARd 3l ADdl 3 - YFIISIUT 3R AIRDIDUT O TP SIfeIdHIel 61T WU
3H? JA ABt as Fute B2 Soll A3 b 3 531 P2 Y 3=t yuf wu A Orea gig & ulgga 3 $@ & §, fadua: ukufye @ 3zl i e ore sit
aifgemsii A Adfea 3

forca mloreil # gforeivl, ame @R 3 8l A1 URURD IH-fr Ader B FRI, Bl HEPrm Yforgrur @ U 3 usdlel Sliol I Ma9Admdr & 3R 3y =t
% Pl AT U SIrol i siraeAedr 3 ST &6 damofil siik craiRie f9rgn & g Ful ol = sirar 3 uf¥arR, are:, RBreuer, JAserRt
Afafer, Fzemet a1 3 IRERY FHFere Sl 6 gforemvr ¢ @ 3, 308 @8 gt sree & il anfde aifts forRIThT & TeIRT < o ©E &6l ¥ JAd it @
531 3raf?r @ SRIot @l ADA T o8] Al B9t RRAT! & 9616l dotid drel 9YfIal I UIURT a5 3M19) IR Il clol DI Udb Ycilelol AT A 8 2391
SIAT fip 3R Y9I 3iiR SMiggeor @ i Jelier d & Sar 8 Sief As swaldcu uifar¥a U of 3% B2 U 31 JeneT sifafafr 3 acorar s 281 8

(Ciet1 SRIersll, a1scs ek Sol aIBg ¢sapIue amifu, 2003)

forca mloreil # giorervr o 3iienfRras Yiorgur o U FeIftda ol @ fe1e el s

[Question ID = 7972]

1. 3p>-I9mI W1 @l garar

[Option ID = 31882]
2. Jienford gfer bl crazen

[Option ID = 31883]
3. 3ol 3l iistal bt wrazen

[Option ID = 31884]
4. 3rca yfsrgiad bl caazen

[Option ID = 31885]
Correct Answer :-
o Jizarford et bt caazen

[Option ID = 31883]
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1) Read the passage given below and answer the following questions:

The phrase “white privilege” is one that rubs a lot of white people the wrong way. It can trigger something in them that
shuts down conversation or at least makes them very defensive. (Especially those who grew up relatively less privileged
than other folks around them). And I’ve seen more than once where this happens and the next move in the conversation is
for the person who brought up white privilege to say, “The reason you’re getting defensive is because you’re feeling the
discomfort of having your privilege exposed.”

I’m sure that’s true sometimes. And I’m sure there are a lot of people, white and otherwise, who can attest to a kind of a-
ha moment or paradigm shift where they “got” what privilege means and they did realize they had been getting defensive
because they were uncomfortable at having their privilege exposed. But | would guess that more often than not, the
frustration and the shutting down is about something else. It comes from the fact that nobody wants to be a racist. And the
move “you only think that because you’re looking at this from the perspective of privilege” or the more terse and
confrontational “check your privilege!” kind of sound like an accusation that someone is a racist (if they don’t already
understand privilege). And the phrase “white privilege” kind of sounds like, “You are a racist and there’s nothing you can
do about it because you were born that way.”

And if this were what “white privilege” meant—which it is not—defensiveness and frustration would be the appropriate
response. But privilege talk is not intended to make a moral assessment or a moral claim about the privileged at all. It is
about systemic imbalance. It is about injustices that have arisen because of the history of racism that birthed the way things
are now. It’s not saying, “You’re a bad person because you’re white.” It’s saying, “The system is skewed in ways that you
maybe haven’t realized or had to think about precisely because it’s skewed in YOUR favor.”

I am white. So | have not experienced racial privilege from the “under” side firsthand. But my children (and a lot of other
people | love) are not white. And so | care about privilege and what it means for racial justice in our country. And one
experience | have had firsthand, which has helped me to understand privilege and listen to privilege talk without feeling
defensive, is riding my bike.

If | am on the sidewalk—which is sometimes the safest place to be—people will yell at me to get on the road. People in cars
think it’s funny to roll down their window and yell something right when they get beside me. Or to splash me on purpose.
People | have never met are angry at me for just being on a bike in “their” road and they let me know with colorful
language and other acts of aggression.

| can imagine that for people of color life in a white-majority context feels a bit like being on a bicycle in midst of traffic.
They have the right to be on the road, and laws on the books to make it equitable, but that doesn’t change the fact that
they are on a bike in a world made for cars. Experiencing this when I’m on my bike in traffic has helped me to understand
what privilege talk is really about.

..This is what privilege is about. Like drivers, nice, non-aggressive white people can move in the world without thinking
about the “potholes” or the “gravel” that people of color have to navigate, or how things that they do—not intending to
hurt or endanger anyone—might actually be making life more difficult or more dangerous for a person of color. Talk about
white privilege is a way of trying to make visible the fact that system is not neutral, it is not a level-playing field, it’s not
the same experience for everyone. There are biases and imbalances and injustices built into the warp and woof of our
culture.

The author has used the analogy of bike riding to talk about white privilege. From the statements given below choose the
one which is an example of an analogy.

[Question ID = 7976]
1. That’s as useful as rearranging deck chairs on the Titanic.

[Option ID = 31898]
2. The promise between us was a delicate flower.

[Option ID = 31899]
3. That new car cost an arm and a leg.

[Option ID = 31900]
4. Elsa said that she has changed but actions speak louder than words.

[Option ID = 31901]

Correct Answer :-
e That’s as useful as rearranging deck chairs on the Titanic.

[Option ID = 31898]
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2) Read the passage given below and answer the following questions:
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discomfort of having your privilege exposed.”

I’m sure that’s true sometimes. And I’m sure there are a lot of people, white and otherwise, who can attest to a kind of a-
ha moment or paradigm shift where they “got” what privilege means and they did realize they had been getting defensive
because they were uncomfortable at having their privilege exposed. But | would guess that more often than not, the
frustration and the shutting down is about something else. It comes from the fact that nobody wants to be a racist. And the
move “you only think that because you’re looking at this from the perspective of privilege” or the more terse and
confrontational “check your privilege!” kind of sound like an accusation that someone is a racist (if they don’t already
understand privilege). And the phrase “white privilege” kind of sounds like, “You are a racist and there’s nothing you can
do about it because you were born that way.”

And if this were what “white privilege” meant—which it is not—defensiveness and frustration would be the appropriate
response. But privilege talk is not intended to make a moral assessment or a moral claim about the privileged at all. It is
about systemic imbalance. It is about injustices that have arisen because of the history of racism that birthed the way things
are now. It’s not saying, “You’re a bad person because you’re white.” It’s saying, “The system is skewed in ways that you
maybe haven’t realized or had to think about precisely because it’s skewed in YOUR favor.”

| am white. So | have not experienced racial privilege from the “under” side firsthand. But my children (and a lot of other
people | love) are not white. And so | care about privilege and what it means for racial justice in our country. And one
experience | have had firsthand, which has helped me to understand privilege and listen to privilege talk without feeling
defensive, is riding my bike.

If | am on the sidewalk—which is sometimes the safest place to be—people will yell at me to get on the road. People in cars
think it’s funny to roll down their window and yell something right when they get beside me. Or to splash me on purpose.
People | have never met are angry at me for just being on a bike in “their” road and they let me know with colorful
language and other acts of aggression.

| can imagine that for people of color life in a white-majority context feels a bit like being on a bicycle in midst of traffic.
They have the right to be on the road, and laws on the books to make it equitable, but that doesn’t change the fact that
they are on a bike in a world made for cars. Experiencing this when I’m on my bike in traffic has helped me to understand
what privilege talk is really about.

...This is what privilege is about. Like drivers, nice, non-aggressive white people can move in the world without thinking
about the “potholes” or the “gravel” that people of color have to navigate, or how things that they do—not intending to
hurt or endanger anyone—might actually be making life more difficult or more dangerous for a person of color. Talk about
white privilege is a way of trying to make visible the fact that system is not neutral, it is not a level-playing field, it’s not
the same experience for everyone. There are biases and imbalances and injustices built into the warp and woof of our
culture.

In the context of the passage which of the following is not true?

[Question ID = 7977]
1. Talk about white privilege causes discomfort among a lot of Whites

[Option ID = 31902]

2. Talk about white privilege has the purpose of making moral assessment about the Whites
[Option ID = 31903]

3. White privilege is caused by systemic imbalances

[Option ID = 31904]
4. White privilege is about inequalities rooted in racism

[Option ID = 31905]

Correct Answer :-
e Talk about white privilege has the purpose of making moral assessment about the Whites

[Option ID = 31903]

3) Read the passage given below and answer the following questions:

The phrase “white privilege” is one that rubs a lot of white people the wrong way. It can trigger something in them that
shuts down conversation or at least makes them very defensive. (Especially those who grew up relatively less privileged
than other folks around them). And I’ve seen more than once where this happens and the next move in the conversation is
for the person who brought up white privilege to say, “The reason you’re getting defensive is because you’re feeling the
discomfort of having your privilege exposed.”

I’m sure that’s true sometimes. And I’m sure there are a lot of people, white and otherwise, who can attest to a kind of a-
Ra moment or paradigm shift where they "got” what privilege means and they did realize they had been getting defensive
because they were uncomfortable at having thW\ﬁWIF ?l*-?&??ﬂ??”{:{)‘?‘ﬁ”'d guess that more often than not, the
frustration and the shutting down is about something else. 1t comes from the fact that nobody wants to be a racist. And the
move “you only think that because you’re looking at this from the perspective of privilege” or the more terse and
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And if this were what “white privilege” meant—which it is not—defensiveness and frustration would be the appropriate

response. But privilege talk is not intended to make a moral assessment or a moral claim about the privileged at all. It is
about systemic imbalance. It is about injustices that have arisen because of the history of racism that birthed the way things
are now. It’s not saying, “You’re a bad person because you’re white.” It’s saying, “The system is skewed in ways that you
maybe haven’t realized or had to think about precisely because it’s skewed in YOUR favor.”

I am white. So | have not experienced racial privilege from the “under” side firsthand. But my children (and a lot of other
people | love) are not white. And so | care about privilege and what it means for racial justice in our country. And one
experience | have had firsthand, which has helped me to understand privilege and listen to privilege talk without feeling
defensive, is riding my bike. If | am on the sidewalk—which is sometimes the safest place to be—people will yell at me to get
on the road. People in cars think it’s funny to roll down their window and yell something right when they get beside me. Or
to splash me on purpose. People | have never met are angry at me for just being on a bike in “their” road and they let me
know with colorful language and other acts of aggression.

| can imagine that for people of color life in a white-majority context feels a bit like being on a bicycle in midst of traffic.
They have the right to be on the road, and laws on the books to make it equitable, but that doesn’t change the fact that
they are on a bike in a world made for cars. Experiencing this when I’m on my bike in traffic has helped me to understand
what privilege talk is really about.

...This is what privilege is about. Like drivers, nice, non-aggressive white people can move in the world without thinking
about the “potholes” or the “gravel” that people of color have to navigate, or how things that they do—not intending to
hurt or endanger anyone—might actually be making life more difficult or more dangerous for a person of color. Talk about
white privilege is a way of trying to make visible the fact that system is not neutral, it is not a level-playing field, it’s not
the same experience for everyone. There are biases and imbalances and injustices built into the warp and woof of our
culture.

Which of the following is not implied by the author in the passage?

[Question ID = 7978]
1. Talk about white privilege can be a source of embarrassment for the Whites

[Option ID = 31906]
2. What the law states is entirely different from what happens in the real world
[Option ID = 31907]
3. White people can navigate their day to day life without thinking about white privilege

[Option ID = 31908]
4. White people can never truly understand the concept of white privilege

[Option ID = 31909]

Correct Answer :-
e White people can never truly understand the concept of white privilege

[Option ID = 31909]

4) Read the passage given below and answer the following questions:

The phrase “white privilege” is one that rubs a lot of white people the wrong way. It can trigger something in them that
shuts down conversation or at least makes them very defensive. (Especially those who grew up relatively less privileged
than other folks around them). And I’ve seen more than once where this happens and the next move in the conversation is
for the person who brought up white privilege to say, “The reason you’re getting defensive is because you’re feeling the
discomfort of having your privilege exposed.”

I’m sure that’s true sometimes. And I’m sure there are a lot of people, white and otherwise, who can attest to a kind of a-
ha moment or paradigm shift where they “got” what privilege means and they did realize they had been getting defensive
because they were uncomfortable at having their privilege exposed. But | would guess that more often than not, the
frustration and the shutting down is about something else. It comes from the fact that nobody wants to be a racist. And the
move “you only think that because you’re looking at this from the perspective of privilege” or the more terse and
confrontational “check your privilege!” kind of sound like an accusation that someone is a racist (if they don’t already
understand privilege). And the phrase “white privilege” kind of sounds like, “You are a racist and there’s nothing you can
do about it because you were born that way.”

And if this were what “white privilege” meant—which it is not—defensiveness and frustration would be the appropriate
response. But privilege talk is not intended to make a moral assessment or a moral claim about the privileged at all. It is
about systemic imbalance. It is about injustices that have arisen because of the history of racism that birthed the way things
are now. It’s not saying, “You’re a bad person because you’re white.” It’s saying, “The system is skewed in ways that you
maybe haven’t realized or had to think about precisely because it's skewed in YOUR favor.”

I am white. So | have not experienced racial prisd 3%/ f-dirSd8 a0kRF ’GRIEfirsthand. But my children (and a lot of other
people | love) are not white. And so | care about privilege and what it means for racial justice in our country. And one
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think it’s funny to roll down their window and yell something right when they get beside me. Or to splash me on purpose.
People | have never met are angry at me for just being on a bike in “their” road and they let me know with colorful
language and other acts of aggression.

| can imagine that for people of color life in a white-majority context feels a bit like being on a bicycle in midst of traffic.
They have the right to be on the road, and laws on the books to make it equitable, but that doesn’t change the fact that
they are on a bike in a world made for cars. Experiencing this when I’m on my bike in traffic has helped me to understand
what privilege talk is really about.

...This is what privilege is about. Like drivers, nice, non-aggressive white people can move in the world without thinking
about the “potholes” or the “gravel” that people of color have to navigate, or how things that they do—not intending to
hurt or endanger anyone—might actually be making life more difficult or more dangerous for a person of color. Talk about
white privilege is a way of trying to make visible the fact that system is not neutral, it is not a level-playing field, it’s not
the same experience for everyone. There are biases and imbalances and injustices built into the warp and woof of our
culture.

“Virat Kohli is known for his hostility towards opponents on field.” Which of the following forms of words from the passage
can best replace the underlined word?

[Question ID = 7979]
1. aggression

[Option ID = 31910]
2. defensiveness

[Option ID = 31911]
3. frustration

[Option ID = 31912]
4. racism

[Option ID = 31913]

Correct Answer :-
® aggression

[Option ID = 31910]

5) Read the passage given below and answer the following questions:

The phrase “white privilege” is one that rubs a lot of white people the wrong way. It can trigger something in them that
shuts down conversation or at least makes them very defensive. (Especially those who grew up relatively less privileged
than other folks around them). And I’ve seen more than once where this happens and the next move in the conversation is
for the person who brought up white privilege to say, “The reason you’re getting defensive is because you’re feeling the
discomfort of having your privilege exposed.”

I’m sure that’s true sometimes. And I’m sure there are a lot of people, white and otherwise, who can attest to a kind of a-
ha moment or paradigm shift where they “got” what privilege means and they did realize they had been getting defensive
because they were uncomfortable at having their privilege exposed. But | would guess that more often than not, the
frustration and the shutting down is about something else. It comes from the fact that nobody wants to be a racist. And the
move “you only think that because you’re looking at this from the perspective of privilege” or the more terse and
confrontational “check your privilege!” kind of sound like an accusation that someone is a racist (if they don’t already
understand privilege). And the phrase “white privilege” kind of sounds like, “You are a racist and there’s nothing you can
do about it because you were born that way.”

And if this were what “white privilege” meant—which it is not—defensiveness and frustration would be the appropriate
response. But privilege talk is not intended to make a moral assessment or a moral claim about the privileged at all. It is
about systemic imbalance. It is about injustices that have arisen because of the history of racism that birthed the way things
are now. It’s not saying, “You’re a bad person because you’re white.” It’s saying, “The system is skewed in ways that you
maybe haven’t realized or had to think about precisely because it’s skewed in YOUR favor.”

I am white. So | have not experienced racial privilege from the “under” side firsthand. But my children (and a lot of other
people | love) are not white. And so | care about privilege and what it means for racial justice in our country. And one
experience | have had firsthand, which has helped me to understand privilege and listen to privilege talk without feeling
defensive, is riding my bike.

If | am on the sidewalk—which is sometimes the safest place to be—people will yell at me to get on the road. People in cars
think it’s funny to roll down their window and yell something right when they get beside me. Or to splash me on purpose.
People | have never met are angry at me for just being on a bike in “their” road and they let me know with colorful
[anguage and other acts of aggression.

I can imagine that for people of color life in a wMeWATorB§ Raid«eFe6® Abit like being on a bicycle in midst of traffic.
They have the right to be on the road, and laws on the books to make it equitable, but that doesn’t change the fact that
they are on a bike in a world made for cars. Experiencing this when I’m on my bike in traffic has helped me to understand
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hurt or endanger anyone—might actually be making life more difficult or more dangerous for a person of color. Talk about
white privilege is a way of trying to make visible the fact that system is not neutral, it is not a level-playing field, it’s not
the same experience for everyone. There are biases and imbalances and injustices built into the warp and woof of our

culture.

Which of the following things is not true in the context of bike riding?

[Question ID = 7980]
1. Roads are built for automobile owners

[Option ID = 31914]
2. People intentionally endanger the lives of bike riders

[Option ID = 31915]
3. Laws on the books are not equitable after all

[Option ID = 31916]
4. Bike riders get yelled at from both pedestrians and automobile owners

[Option ID = 31917]
Correct Answer :-
e People intentionally endanger the lives of bike riders

[Option ID = 31915]
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